I AL S TF A A M

H E) EE L HE3o I E2Zo HEEL T o H Hl 2
M = 760,622,136 321,635,074 87,421,364 81,633,017 269,932,681
FAR S - -
UM BME(L) 719,053 660,008 59,045
[ & A 1 759,903,083 320,975,066 87,421,364 81,573,972 269,932,681
= X H e 2o 742,527,907 465,750,482 25,728,243 56,745,629 194,303,553
-] 2t H & 2o 60,887,286 38,191,539 2,109,715 4,653,141 15,932,891 XML SH * 8.20%
[ 2= A ] 803,415,193 503,942,021 27,837,958 61,398,770 210,236,444
S 2 Ht H| 3,102,320 1,288,983 1,813,337
4 2 4 F 4 96,401,999 24,794,157 735,363 37,583,804 33,288,675
M EE R 30,529,775 19,149,796 1,057,842 2,333,153 7,988,984 L2Hl * 3.80%
188 ¥EERE 6,989,711 4,384,295 242,190 534,169 1,829,057 £H[ * 0.87%
E|E SH £3H| 17,078,140 10,712,261 591,749 1,305,149 4,468,981 EHHYLCFH ¢ 230%
Hzd 28R 14,418,171 9,043,665 499,589 1,102,002 3,772,915 HYLCFH ¢ 1.70%
a2 2 dz 21,118,381 13,246,309 731,751 1,614,109 5,526,212 HHEL-RH * 2.49%
Lol gdREHR 944,389 592,360 32,723 72,181 247,125 HUEHRE * 6.55%
HMSIESUE X ZESMUBT4+E 1,297,566 658,375 92,246 143,950 402,995 (FH2H|+ X . 2H| + 7| A AH]) * 0.081%
HLI|AHHZ X ZFESMYB 4R 1,121,353 568,966 79,719 124,401 348,267 (FH2H| + X . 2H| + 7| A ZH]) * 0.070%
ArH o H 2 h2fH| a.(Fi2H| + & - . FH| + 2HSXFXH/1.1) *  1.86% +5,349,000
38,668,443 22,908,714 2,525,499 2,872,478 10,361,752
(abd H25%) b.(CHEH|+ - 2H]) * 1.86% *1.2+5,349,000
71 Ef & H| 95,362,413 50,319,942 7,030,818 8,721,337 29,290,316 (*H2H|+2H]) * 6.100%
g A B HH 8,009,674 4,064,043 569,424 888,583 2,487,624 (U2 H|+ 2™ = 2H|+ 7| A ZH]) *  0.50%
[ 2 A 335,042,335 161,731,866 14,188,913 59,108,653 100,012,903
Al 1,898,360,611 986,648,953 129,448,235 202,081,395 580,182,028
Y 8 g 2 H 113,901,635 59,198,937 7,766,894 12,124,883 34,810,921 A * 6.000%
o] e 187,835,798 108,724,838 7,466,690 19,893,324 51,750,946 (2 H|+ZH]+ [H]) * 15.000%
H 71 & N 2 4 .
£ XX HI(Z]1AH ) - -
S = 7t o 2,200,098,044 1,154,572,728 144,681,819 234,099,602 666,743,895
2 7 7t X M 220,009,802 115,457,272 14,468,181 23,409,960 66,674,389 227t *  10.0%
g ® 2 o = -
E = = 2,420,107,846 1,270,030,000 159,150,000 257,509,562 733,418,284
Ea X &2 XAy 239,543,340 183,894,000 41,695,760 13,953,580 ChE|
Xt X 2SR H| 291,302,380 - 21,000,000 17,726,200 252,576,180 Chega|
- Q¢ H 35,878,150 35,878,150
ZA7HA =93 .
5 S A H| 2,986,831,716 1,453,924,000 221,845,760 275,235,762 1,035,826,194




2 AL THA MM

SAIE  FI7|E MEA HaHIE Z3 O{20|E HESAL TN o UAMEAF AN O THEH A (W1,890,428,000)
Hl = = o T = | H| inl
SIS V= 321,635,074
M EEEY
2
H| g, RAE) 660,008
[ & Al 320,975,066
o 43 = 7 465,750,482
Z2 "3 £ 7o 38,191,539| 1M = FH| * 8.2%
| [ Al 503,942,021
2 & 1,288,983
71 A & H 24,794,157
&= AN R YR 19,149,796| = 2H| * 3.8%
i 188 8 & 4,384,295\ 2 H| * 0.87%
9 =0 HY Bz 9,043,665 AT - FH| * 1.7%
7t =0 oag EdE 13,246,309| 2 T . FH| * 2.49%
oI eYEER 592,360| AL EHZE * 6.55%
fl EX SH FaSH| 10,712,261 | A = FH| * 2.3%
AAOHH 2 A 22| H 23,402,513 (M 2H| + & = + 2= X} H] /1.1)*1.86%+5,349 8 & HE
AR Ot E A4 22 H 22,908, 714|(M 2H|+ Xl ) * 1.86% * 1.2
3 82 Ao 4,064,043|(M 28|+ 2 =+ 7| A A&H]) * 0.5%
7| EF & H 50,319,942|(X &H| + =2 H|) * 6.1%
St Xg2SsTR 658,375|(M| 2 H|+ &l .=+ 7| A ZH|) * 0.081%
A7/ tolaXleEEMEarTRr 568,966|(X 2 H|+ & L+ 7| A ZH|) * 0.07%
[ Al 161,731,866
A 986,648,953
o gk 2 2| H 59,198,937|4 * 6%
0| s 108,724,838 (.= FH| + ZH| + LBEE2|H]) * 15%
s =5 7t 4 1,154,572,728
27t 7 X M 115,457,272| 327t * 10%
= 2 o 1,270,030,000
= N e = 183,894,000
F =N g = -589
T & At H] 1,453,923,411




al = H XI

H
SAE  HLHIAE 25 E
WM 2 o H H g A
E % cel| 42
o 3 o 3 o 3 o o 3 o
01 FIIT HYAl BRHIL: =23
A B A
0101 & 2 = 2 At
010101 2t & Z Al 9,053,720 53,443,926 7,651,229 70,148,875
010102 & ¥ NFBA 39,046,894 14,401,354 13,806, 111 67,254,359
010103 E22I2IEBA 21,161,493 177,143,318 1,295,769 199,600,580
010104 = H Z A 9,016,413 35,455,809 1,357,071 45,829,293
010105 & 3 A 4,023,562 3,515,430 7,539,012
010106 EF & = Al 4,676,353 12,712,854 270,501 17,659,708
010107 & # = A 13,375, 171 29,651,381 1,554 43,028, 106
010108 XN SsLES=SSAt 1,932,941 1,837,602 470 3,771,013
010109 2 = = A 23,800,998 25,593,554 6,580 49,411,132
010110 O & = Ak 15,812 32,737,951 52,989 32,806,752
010111 & & = A 38,010,088 3,189,823 30,888 41,230,799
010112 & 2l 3 Al 9,531,629 3,715,528 196 13,247,353
010113 & 3 A 4,931,875 12,608,348 17,540,223
010114 + X T A 128,966,999 59,743,604 310,799 189,021,402
010115 2 M 14,091, 106 14,091, 106
[ & A ] 321,635,074 465,750,482 24,794,157 812,179,713
010116 & & 2 & = 660,008 660,008
010117 & @ 1,288,983 1,288,983
010118 & = & & 2 183,894, 194 183,894, 194
010118 2 2 Xt 2 2
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[E71E d5A BHuHIL: =& 20T HESAH]

MO H [P # s A
z 9 7 gl S a
g 7t = g 7} 2 o g 7t 2 o g 7} 2 o

010101 JF & = At

ZHOIUE JIEASZE - AIR4 |3.0%6.0%2.6m, 14IHE H A 1 978,575 978,575 978,575 978,575
ZAHOIUE JtdHs=E - &1 3.0%6.0%2.6m, 1442 JH A 1 678,295 678,295 678,295 678,295
OISASFHA(HAHEAZR) 140 & CH 2

AEADISE SECI/E.G. | & B H=2.4, 141 & M 125 37,056 4,632,000 37,056 4,632,000
td=e = W:5.0m*H:2.4m( & XI XL 6H XI) EA 1 1,064,204 1,064,204 1,064,204 1,064,204
T~EBAEE o H A 8 3,617 28,936 42,200 337,600 45,817 366,536
TcHATE A N A 14 5,685 79,590 72,639 1,016,946 78,324 1,096,536
OlsA 222 H| A 1SH(2m), 34 CH 14 36,212 506,968 47,050 658,700 83,262 1,165,668
22tSHiel /et P x 4.2m0l|at, 3 M2 1193 1,272 1,517,496 6,920 8,255,560 8,192 9,773,056
;\:-_‘%/A.é%gﬁflﬂal(/\lﬁél%tﬂal) 10.0m Ol3k, 3HE I\ng 65 39,894 2,593,110 146,020 9,491,300 4,587 298, 155 190,501 12,382,565
2ZP2HHI A OO /A= 1400 (&2 2), 30m 0I5t M2 1100 3,879 4,266,900 11,345 12,479,500 15,224 16,746,400
A2 B - 232E ab M2 1979 313 619,427 313 619,427
A== B - AH, ¢HEdH StEEX M2 184 330 60,720 783 144,072 1,113 204,792
HEZE S0i& 2l Bt M2 1473 2,116 3,116,868 2,116 3,116,868
A2 HZ22IC2EX M2 1473 11,761 17,323,953 11,761 17,323,953
[ & A ] 9,053,720 53,443,926 7,651,229 70,148,875




N 2 &
= oel| % 2
3o 2 o 3o t 7} 2o
010102 & & X
_ ZdclEIY, PHC AS, O
ZdcELE 450%11000m = 290,325 24,967,950 290,325 24,967,950
O (HOIE) A @450 PVC H 525 45,150 525 45,150
Ot SHEH(SIP+AHIO1 A)) ®450%10000mm = 189,773 13,740,478 12,563,740 13,209,686 459,464 39,513,904
ZdclEES Hel&cel 0450 = 1,212 12,473
HHlIZE, oiH 2l 293,316 293,316 1,837,614 1,837,614 596,425 2,727,355 2,727,355
0

[ & 39,046,894 14,401,354 13,806, 111 67,254,359




M = H L £ H| 4 H| et Al
y F 3 ool 23 2
o 7} 2 o ot 7} 2 o ¢t 7} 2 o ot 7} 2 o
=g ez A
TEREEERIEESE
’ ’ EF
Sy M3 1196 o)
Aa—l_l_L ol N 2k=
8 BEx(W |5 EE:Z 12 Br2E=300m3 OF g 1185 521 617.385 8,586  10,174.410 790 936, 150 9.807|  11.727.945
Al Ol O Hoaxe
AL s ), g?gm(z'mkm’ g=Ts, M3 1185 33 39,105 2 2 370 35 41,475
TENEEERIEELES
25-18-12 M3 8
ERNEEEIEEED
25-18-08 s 33
Aa—l i o B (o]} N 2E=
S2=320E Be / BIHEM) |5 EE?AJZ’ 12 Er=2&=50m3 O}, 108 1,117 120,636 8,400 907,200 693 182,844 11.210 1,210,680
S7 2 A 351 AFZ Al 0~7n7HX] w2 861 7.391 6.363.651 18.206| 15,752,856 25687 22.116.507
22 43) AFZ AL, 0~7n7IHX] w2 89 6.429 572,181 5,538 1,382,882 21.967 1,955,063
al T x|
X% NS BN lag A Al 0~ W 56 7,746 433,776 21,955 1,229,480 29,701| 1,663,256
3 7 HbSt . 0~7mIHXl M2 1543 0482  3.829.726 16.374]  25.265.082 18.856|  29.094.808
a7l 5 O~7mIHK W2 2063 2471 7,321,573 16.374|  48.516, 162 18.845|  55.837.735
Fo=gpeEg=2, 0@=Y
E==E22} ,
=SS (SD350/400). HD-10, &tz = Azt |TON | 30.447
e Ho=gpeg=y, 022y | 30 08
=55 (SD350/400) . HD-13. stz =A x|’ :
. go=d2es22, 0822 || 4o
—== (SD350/400), HD-16, ol x| & AHXI & '
e Ho=gpeEg=2, 0232y o | 33 08
=5Sc (SD350/400), HD-19, stz =A x| 99
e Fo=gpEg=2, 0@=y
===2 (SD350/400) . HD-2, atximarxte|lON | 49797
2 xg EE(0as) TON | 149.589 11.909 1,781,455 493.355| 73,800,481 505.264|  75.581,936
|z 2I2E ga V3 35 2.343 82.005 3.279 114,765 4,983 174,405 10,605 371,175
5t H ] 21.161.493 177.143.318 1,295,769 199,600,580




N 2 L F 4 3 H| e A
g o 7 = crel| 2z 2
7t = o Tt 7} = o Tt 7} = o Tt 7} = Y
010104 = = =
mgplEss gaa'gtﬁ%’ 190+5790mm, o 143216 52| 7,447,232 so| 7,447,232
0.58 H=a)) 3.6m 0I5t HOH|  11.058 201,304 2,447,179 201,304| 2,447,179
1.08 BS A 3.6m 015t HoH| 101.113 202,645| 20,490,043 202,645\ 20,490,043
1.08 BEa)| 3.6m =1t HOH| 24.205 269,193| 6,521,200 269,193 6,521,200
E%i%'ﬂ - 20128 128 WS Mloim qia 12 & 0 26 34,503 897,078 34,503 897,078
HE 2ol oley 1= o i 34,503 1,357,071 1,3s7,071| 1,391,574 1,357,071
HE 2t oley o= & 0 0 43,913 43,913
HE oul oz, 3% &0l 0 58,028 58,028
BOIX 2= 22 AI[(AE 1 150+190+390( 2= Z3t) I 143 6,829 976,547 21,704 3,116,542 28,623| 4,093,089
Ho=3 0y 100%100 M 9 1,977 17,793 10,938 98,442 12,915 116,235
EEERI 200+ 100 1 80 2 627 210, 160 15,465 1,237,200 18,002| 1,447,360
yo=3z 0y 260+100 M i 3,017 3,017 8,151 8,151 21,168 21,168
23p/E0YaR - 6 150+ 190 I 4 3,454 13,816 19,415 77,660 22,869 91,476
2o2|Ew4E - 24-15 150% 150 ! 46 1,922 88,412 5,879 270,434 7,801 358,846
S=aDAE 6"+ 10mn M 5
S=qAl(8' ) #8 N 239 421 100,619 421 100,619
By D13 M 199 555 110,445 555 110,445
rEZYIE T 3/8" oh 4 116 417 48,372 2,430 281,880 2 847 330,252
[ & A ] 9,016,413 35,455,809 1,357,071 45,829,293




N 2 L F 4 3 H| e A
g o 7 = crel| 2z 2
Tt 7t = o Tt 7} = o Tt 7} = o Tt 7} = Y

010105 & = A

susEL (S, 220) Hher, TR A 30m, R2E2 30mm|M2 33 28,802 953,436 30,555| 1,008,315 59,447 1,961,751
SuMEL(SA, 220) g%g{;m = 300+30mn, =€, 2 9,534 114,408 9, 166 109,992 8,700 224,400
stusEe (S, 220) ST, TAA 20m, D@2EE 25mm|M2 13 29,855 388,115 42,725 555,425 72,580 943,540
stz (SAl, 227]) ?é{ﬂ A 220+30m, 22ES 68 7,223 491,164 6,722 457,096 13,945 948, 260
SAMZA(SA, 22)) ;ﬁg%%m OF& % 100+20mm, ==, 6 5,971 35,826 10, 156 60,936 16,127 96,762
SN R0 (SA, 22)) |Z&A, 80+100m, S2EH2 30mm M 3 9,091 27,273 2 444 7,332 11,535 34,605
SN WE2eItH(SA, 22)) |Z&A, 200+100mm, S2EH2 30mlM 10 22,728 207,280 6,111 61,110 28,839 288,390
OIZOtE HIBHCH W:600 ! 24 74,420 1,786,080 52,301 1,255,224 126,721 3,041,304

A 4,023,582 3,515,430 7,539,012

o




W o= v 2o # oy & 7
E o # A crgl| 4 5
e 7} 2 o c 7} 2 o e 7} 2 o e 7} 2 o

010106 EF & = At

A& EFY NIJIEEY, £, 300%300%8~11mm[M2 152 11,819 1,796,488 11,819 1,796,488
Etder=2 2 (HHE 24mm+2H 5mm)  |HES, 300x300(EHLUC, BHAHE=) M2 69 1,349 93,081 25,824 1,781,856 555 38,295 27,728 1,913,232
Bl =2 (HIE 66mm+et 5mm)  |HFEH, 300%300(EHC, BHAMH=SE) M2 20 1,349 26,980 25,824 516,480 555 11,100 27,728 554,560
Etder=t2 2 (HHE 96mm+2t 5mm) |HFE, 300x300(EtLUC, BHAHE =) M2 58 1,349 78,242 25,824 1,497,792 555 32,190 27,728 1,608,224
COIEE Y TOIEEY, LU - 300*300mm M2 281 7,800 2,191,800 7,800 2,191,800
Er =2 (HHE 15mmt+e 6mm) |2, 300x300(E+LC, BHMEF) M2 273 1,794 489,762 32,662 8,916,726 692 188,916 35, 148 9,595,404

il

Al 4,676,353 12,712,854 270,501 17,659,708




M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

010107 & = 3 At

HEOLAZE AE -HHE, Z2t0I01|BtS, T:3.0 M2 492 12,329 6,065,868 15,735 7,741,620 28,064 13,807,488
HEOLAZE AE -HIE, Z2t0I0i (=2, T:3.0 M2 39 12,408 483,912 18,870 735,930 31,278 1,219,842
e BHS W:300 M 127 4,417 560,959 3,341 424,307 7,758 985,266
HEZE & W:300 M 42 4,428 185,976 3,811 160,062 8,239 346,038
=D (Ael2) &2, 5mmOlot, H=E M 86 157 13,502 3,100 266,600 3,257 280,102
=232 (ael2) a2t 10mm, ¥S =7 M 1264 488 616,832 3,100 3,918,400 3,588 4,535,232
g Z2E2 IS / HtE 2imm, H=, 24clE HtE M2 15 2,576 38,640 15,174 227,610 17,750 266,250
g~ Z2E2 U8 / Y %mm&n)ﬂé Hie, Hets~X&3s M2 27 4,838 130,626 21,123 570,321 25,961 700,947
HEY A= HEE M2 553 2,620 1,448,860 13,898 7,685,594 16,518 9,134,454
HEd N Y= =2 M2 622 1,901 1,182,422 11,275 7,013,050 13,176 8,195,472
2SR22E2 /Y Zd2EH, 18mm M2 27 7,646 206,442 7,646 206,442
BS22E2 / HIE ZdcIEH, 24mm M2 29 4 116 1,782 51,678 21 609 1,807 52,403
BSI22E2 / HE ZdcIEH, 30mm M2 35 5 175 2,153 75,355 27 945 2,185 76,475
HAM S =L HHMZ, 500%500%70mm M2 163 16,241 2,647,283 3,524 574,412 19,765 3,221,695
[ & A 13,375,171 29,651,381 1,554 43,028, 106




o= = 2o A g
= o F chel| 2 Hl 2
g 7} 2 o c 7t 2 o g 7} 2 o g 7} 2 o

010108 XN=SX=ESSAt

SOy oA =&&  D100mm H A 2 24,675 49,350 25,812 51,624 50,487 100,974
SHCol(LE)Ax D100mm H A 10 22,837 228,370 25,812 258,120 48,649 486,490
HES-AHYATIOI Z-E X D100mm=1.5t Ol ot M 71 21,041 1,493,911 19,278 1,368,738 40,319 2,862,649
AHIMNISSEX 250%x250%250% 1. 5t EA 10 16, 131 161,310 15,912 159,120 47 470 32,090 320,900
[ & A ] 1,932,941 1,837,602 470 3,771,013




[E7] dEA| HuHIE 338 20| HESAL]
N 2 L F 4 3 H| e A
s H ™ e | THel| = H 1
Tt 7t = o Tt 7} = o Tt 7} = o Tt 7} = Y

010100 2 = = A

HUYHBHEE MW-BAR, H:1nOl&H. QIWE 2 M2 905 5,601 5,150,355 0,688 8,767,640 15,379| 13,917,995
HOIOITHI Al 2] #8 ~150%150 M2 515 1,815 934,725 586 301,790 2,401 1,236,515
DIEE IHHS &% OIS, 50%50mm M 84 315 26,460 315 26,460
XOIEH S M3 OIS, H=10mn ! 24 393 9,432 393 9,432
EVPIT B2AACH) 400%1800, D38, 1+22.3%21 I ! 37,945 37,945 10,243 10,243 15 {5 48,203 48,203
HcHeH 3 2 75%50+1 514254, H:900 ! 89 37,000 3,295,581 78,579 6,993,531 75 6,675 115,683| 10,295,787
S A LIFRA X %?%gm’”ﬁt’ H:1200, 2el9t= ), 63 188,558 11,879,154 104,770 6,600,510 71 4,473 293,309| 18,484,137
OIABCIS KA 2Y = 1:300 ! 30 1,675 50,250 2,485 74,550 4,160 124,800
N EEES! DU, 1500+4800+3. 2t ) : 412,823 #2,803| 1,001,744 1,091,744 1,006 1,006 1,505,593 1,505,503
N EEES! OFSIGT, 1000%1000. 1-50%5%3  |of 3 89,775 269,305 22,025 66,075 35 105 111,835 335,505
oEeUs BHO1 | |-25x05x3t OlOIE 2 61 1,634 99,674 1,779 108,519 2 22 3,415 208,315
x| AEIQIZI A, 1200%3t ! 12 33,545 402,540 34,501 414,012 100 1,200 68, 146 817,752
SEEIETI=PEp! SST ! 13 5,690 73,970 5,690 73,970
HTUHE A (2 X)) 150¢100+1.2t, STL(E & 2) I 78 4,089 315,042 14,923 1,163,994 38 2,964 19,000 1,482,000
22| 4 0/E{ = 3 @100+22t STL I ! 604 604 946 946 1,550 1,550
JelAE 900+600+600, SST'L3H b Z & SET ! 696,046 696,046 696,046 696,046
MESEAEH (N, ) 300%300+7 EA 24 6,128 147,072 6,128 147,072
[ & A ] 23,800,998 05,593,554 16,580 49,411,132




[E7]E S5l HuHI: =58 O2I0[H AESAH]
M = H| = 7 H 3 H g A
g 9 T 4 el =¥ H 2
T 7t = Y T 7t = 9 T 7t = % T 7t = Y

010110 01 & 3 At

D2E2 HIE LH&!, 15mm, 3.6m Ol ot M2 2026 13,680 27,715,680 13,680 27,715,680
DE2EIE HHE 2, 24mm M2 39 8,887 346,593 8,887 346,593
ZEEE HtS HESH, 24mm M2 113 4 452 1,781 201,253 21 2,373 1,806 204,078
DEEIE HHE HEE, 27mm M2 46 4 184 1,968 90,528 24 1,104 1,99 91,816
ZEEE HtE HESH, 100mm M2 492 18 8,856 6,485 3,190,620 91 44,772 6,59 3,244,248
23clE HAel L & M2 63 3,113 196, 119 3,113 196, 119
Z3elE HHe BRSPS M2 145 3,113 451,385 3,113 451,385
23clE HHel 2 M2 39 3,113 121,407 3,113 121,407
23clE HAel CIRSES M2 40 3,113 124,520 3,113 124,520
AE &0 T g M2 713 297 211,761 297 211,761
I 01 T M2 395 16 6,320 223 88,085 12 4,740 251 99, 145
[ & Al 15,812 32,737,951 52,989 32,806,752




[Z71= 2I0IT HYBA]
R z &
' # A ool 4 o o
T 7t 2 o 2 o 7t 2 o T 7t 2 o
010111 =
AD - 01 .900 .400 = 2.160 5 2= A
AD - 02 .400 .300 = 17.020 1 <=2 X
AD - 03 .400 .500 = 18.500 1 2= X
AG - 01 .900 .000 = 0.900 2 =g=PADN|
AG - 02 .900 .600 = 2.340 1 2= X
AG - 03 .400 .600 = 2.040 1 =a=PADN|
AW - 01 .600 .900 = 0.540 4 2= A
AW - 02 .800 .200 = 0.960 4 2= A
AW - 03 .900 .500 = 1.350 4 g=PADN|
AW - 04 .500 .500 = 2.250 11 2= X
AN - 05 .000 .500 = 4.500 1 <=2 X
AW - 06 .800 .800 = 3.040 1 2= X
AN - 07 .400 .500 = 6.600 4 =g=PADN|
AW - 08 .000 .400 = 38.400 1 2= AHH
SSW - 01 .100 .500 = 7.750 1 2= A
SSW - 02 .600 .300 = 15.180 2 2= AHH
ASD - 01 .400 .500 = 8.500 2 3,589,673 7,179,346 3,589,673 7,179,346
FSD - 01 .000 .100 = 2.100 2 171,874 343,748 307,008 1,516 3,032 326,894 653,788
FSD - 02 .800 .100 = 3.780 4 294,438 1,177,752 744,816 1,821 7,284 482,463 1,929,852
PD - 01 .800 .000 = 1.600 1 259,156 259,156 259, 156 259,156
PD - 02 .900 .100 = 1.890 1 306, 129 306,129 306, 129 306,129
PD - 03 .000 .100 = 2.100 2 340,143 680,286 340,143 680,286
PO - 04 .900 .300 = 2.070 26 670,568 17,434,768 670,568 17,434,768
PD - 05 7.600 .400 = 18.240 1 2,954,388 2,954,388 2,954,388 2,954,388




N = 4 L 2 H e H| g A
g 9 7 2 cel| 4z
] = o4 o 7} = 94 Tt 7t = %4 ] = o4
P - 01 3.900 x 1.500 = 5.850 EA 1 786,562 786,562 319,859 319,859 1,106,421 1,106,421
P - 02 3.200 x 1.500 = 4.800 EA 1 645,384 645,384 262,448 262,448 907,832 907,832
SO - 01 1.800 x 2.100 = 3.780 EA 1 293,677 293,677 183,535 183,535 1,815 1,815 479,027 479,027
SO - 02 0.700 x 1.800 = 1.260 EA 3 110,846 332,538 139,640 418,920 1,401 4,203 251,887 755,661
SO - 03 3.800 x 2.700 = 10.260 EA : 629, 197 629, 197 424,441 424,441 4,023 4,023 1.057.661| 1,057,661
W - 01 0.900 x 1.500 = 1.350 EA : 268,408 268, 408 36,687 36,687 733 733 305,828 305,828
W - 01 1.200 x 1.400 = 1.680 EA ! 215,514 215,514 41,843 41,843 836 836 258, 193 258, 193
W - 02 1,500 x 1.000 = 1.500 EA > 168,370 336,740 41,843 83,686 836 1,672 211,049 422,098
W - 03 2.500 x 1.000 = 2.500 EA > 235,718 471,436 48,600 97,200 971 1,042 285,289 570,578
SEES: i%§§§8~g§;230 e E > 30,643 61,286 30,643 61,286
co22X ;3%%4%%5@2630' (3=, @8 |x 10 42,025 420,250 42,025 420,250
S EES] HaH 2 HA 2 9,602 116,304 193 2,316 9,885 118,620
EE AR, B x 11 19,261 211,871 19,261 211,871
S 2%, s x 6 14,884 89,304 14,884 89,304
S EE s, A x 5 25,390 126,950 25,390 126,950
Cor=a SHe, M2y BS o2 5 2,225 11,125 43 215 2,268 11,340
cor=ax ATHES, HEH B o2 7 1,287 21,879 25 425 312 20 304
zZ20/8X %g?g%o)“ﬁ’ 105kg, et x 8 50,080 400,640 50,080 400,640
2z 2z, 2=, 45, 180n | > 1,400 2,800 1,400 2,800
N el 2. doEed o 15 5,253 78,795 5,253 78,795
=53 SEFE BN o 57 14,446 803,422 14,446 823,422
saAzE x 10 10,506 105,060 10,506 105,060
PVCES & o (14 &%) e 5 27, 141 135,705 27,141 135,705
AD 0| L:1,000 x 8 17,510 140,080 17,510 140,080
=D P i o 4 910 3,640 910 3,640
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N 2 L F 4 3 H| e A
s H ™ e | THel| = H 1
Tt 7t = o Tt 7} = o Tt 7} = o Tt 7} = Y

010112 2 2 = A
e 92 steS3l, 6m M2 10 8,571 85,710 8,571 85,710
S22l - Bee fomm Ol gk M2 10 11,995 119,950 11,995 119,950
==zgq¢) @x95 20|, =9, 24m M2 204 20,633| 8,089,132 10,633 8,289,132
2SI - REQ2, YUES [24mm(6+12A46) W2 204 15,617| 3,185,868 15,617| 3,185,868
So1x922 5x5, A2l ! 66 244 16,104 244 16,104
2297|2932 5e5, Al2|2 ! 1728 244 421,632 244 421,632
f’ﬁ?%éi' T B 12mSTS g = ma M2 14 33,502 470,288 29,265 409,710 14 196 62,871 880, 194
2x8 22 10+10, ala|2 ! 53 1,960 103,880 1,960 103,880

B B0l 8+10 ! 53 1,619 85,807 1,619 85,807
e 22 8+10 ! 27 2 188 59,076 2,183 59,076
[ & ] 9,531,629 3,715,528 196 13,247,353




M =)
N 2 L F 4 3 H| e A
= o F chel| 2 Hl 2
Tt 7t = o Tt 7} = o Tt 7} = o Tt 7} = Y
010113 & = A
I OIS I+ SHOIE (22 R) g;g?_ﬁjsaag =EEEE ), 1520 1,060 1,611,200 4.192| 6,371,840 5,050 7,983,040
HHEHOrS DI+ S H O E (22 &) é”;gai_;%ﬁézaa'g ==y 145 1,060 53,700 5,029 729,205 6,089 882,905
I OIS I+ S HOIE (22 R) EH|;$_ gggﬁﬂsﬂzgu (W 444 2613 1,160,172 5041 2,637,804 8,554 3,797,976
HHEHOrS DI+ S H O E (22 &) g;g%ﬁéaag ==y 40 534 21,360 5,029 201, 160 5,563 202 520
HIZHolE L& =23 mz 20 3,151 69,322 5,402 118,844 8,553 188, 166
XS HQIE(2E) B, 23, 12 W2 o1 1,637 34,377 3,143 66,003 4,780 100,380
2al20l8 HOIE =2 23, MBI M2 6 1,979 11,874 4,873 29,238 6,852 4,112
HIE DS I+ = Al T Her, =& W2 397 4,710 1,869,870 6,182| 2,454,254 10,802 4,324,124
[ & A 4,931,875 12,608,348 17,540,223




M = H L £ H| 4 H| et Al
oy 7 4 ael| 2z 2
ot 7} 2o & 7} 2o & 7} 2o ot 7} 2o
= A
SRS AN A (0132
Xt
7 e 1 % 600 wBom W2 103 33.005|  3.408,785 33.005|  3.408,785
H2ma . $-20, H/L. METAL W2 40 131.329|  5.253.160 131.329|  5.253.160
EA 10 78.797 787.970 78.797 787.970
2y) AERZa A S8t 120t w2 327 47614  15.569.778 26.044|  8.516.388 543 177,561 74.201| 24,263,727
HILIEFQ . 3+450+450mm. CIDEFY |v2 163 11.219 1.828.697 7.953 1,296,339 19.172|  3.125.036
T:6.0mm w2 592 46.968|  27.805.086 5.545|  3.282.640 52.513|  31.087.696
dE200 29 (HEH T:6.0mm w2 113 37.337|  4.219.081 13,922 {573,186 51.050|  5.702.267
PVC. 48%23%4mm M 71 10,112 717.952 6.215 441,265 16.3271 1,159,217
_gIZaeol  |T=18, H=100 M 600 5.561 3.336.600 {204 700,400 6.765| 4,059,000
e e Pk W2 540 9.843|  5.315.200 2917l  1.575.180 12.760| 6,890,400
MDeCo HE MOWX, DA w2 439 9.803|  4,303.517 4,190 1,839,410 13.903| 6,142,927
S Qe T 12x150x1200 W2 724 19.012|  13.764.688 24.614]  17.820.536 14 10,136 43.640|  31.595.360
Hier s ) 25(T)x150(W) W2 26 20.237 526,162 23.002 600,392 16 416 43.345|  1.126.970
S T W2 52 245.148|  12.747.696 045.148|  12.747.696
_ N CEEREREIEEE
IE(RES) e hm o W2 904 3.364  3.041.056 13.508] 12,202,502 135 122,040 17.007| 15,455,688
. BH = = § = [==] =
SEEINED Hl=g 25 (01S3)2=, =, HIE |, 266 8.008|  2.154.068 3.103 825,398 11.201 2,979,466
0.025, 80mm
= = MY CH ox=(JI=\o= =
(Z32IE Bas HI=8 2800tS5)28 BIE e 542 10.745|  5.823.790 5352 2,900,784 16.007|  8.724.574
0.025. 120mm
== = = C BH = | = A =
Z2IE BT HIEY 280IS3)2s, SHU= A, 709 8.064  5.717.376 4.415| 3,130,235 12,479  8.847.611
=, Hl= 0.025, 85mm
== = N-g C =H = = = sy =
Z2IE Bes [HIEY 280tS2)2s, SA= A, 492 16.105|  7.923.660 4.415|  2.172.180 20.520]  10.095,840
= HIZ 0.025. 180mm
C BH = = =y (w3
mEp AR (s o 2y |IEE8 230ISS)2s, BtE, Y, 643 5.960|  3.838.067 963 619,209 6.932|  4.457.276
= 0.025, 70mm
SH R PAD 24T T:50m(23T) w2 4 73.544 204,176 1,083 4.332 74.627 208,508
MDF . 30%9 M 646 914 500, 444 203 131,138 1 646 1,118 720,208
A ] 128,966,999 59.743.604 310,799 189,021,402




[B7]= SEA THRHIL 258 020 HESAL]
M = o 7 Hl Z 4 g A
g 9 T 4 T =¥ H 1
T 7t = 9 T 7t = 9 T 7t = 9 T 7t = 9

010115 =2 M Hl

ABIE AT Z 3066 3,151 9,660,966 3,151 9,660,966

22 TARE M3 219 20,137 4,410,003 20,137 4,410,003

X2 SRE, #57 M3 1 20,137 20,137 20,137 20,137

= Al 14,091, 106 14,091,106
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[ 87k HIH3ILE = Ol ZI0| & HESAG]
N 2 H| 3 H| g A
oy 7 el 4% 2
7} 2 o 2 o 2o &t 7} 2 o
010118 i
== <L ol 2o =] od
bl Ans: ' = SRR 1196 67,120 80,275,520 67,120| 80,275,520
== £ ol 2o = o
30| =2 A, e = S ERAR 78 58,180 4,538,040 58,180 4,538,040
== <L ol 2o =] od
30| = An= NE =S ERAR 33 57,170 1,886,610 57,170 1,886,610
] Zo=d2ER=SY, 0222
Ho=gpeg=y Sh30/400) Hoot0. Szl S etz |TON | 80.447 636,190| 19,370,076 636,190| 19,370,076
o Zo=JcEg=Y, 0822
EEC R rn (Sh3n0/400) T3, oz ez |TON | 30.948 625,520 19,358,592 625,520 19,358,592
. 3 Zo=dcER=Y, 0222
somgoege (50300 400) . Ho6. Sl S ez |TON | 8.984 620,180 5,571,697 620,180 5,571,697
I Zo=dcER=Y, 0822
EEC R rn (50350200 70, 1oz ez |TON | 33.958 620,180 21,060,072 620,180 21,060,072
5 oo ZomdeEs=Ey, 022
Rt (5030, 400) . 1052 ozl marxic|TON | 49.737 620,180 30,845,892 620,180| 30,845,892
xogarg 3049 0.50% Al ! 987,695 987,695 987,695 987,695
[ 2 ] 183,894, 194 183,894, 194
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S A A IHA LN

SAHY (HUE I =58 ofEloly HESAHEY) Y ¢ LNEATHAMYOIZHEH 2 (W1,890,428,000)
Hl = = o T = | H| inl
XM 2 | 87,421,364
M EEEY
2
H| Y, Bk ()
[ & Al 87,421,364
o RS 25,728,243
Z2 "3 £ 7o 2,109,715 AT - FH| * 82%
| [ Al 27,837,958
2 &
71 A & H 735,363
&= AN R YR 1,057,842| =2 H| * 3.8%
i 188 8 &2 242,190| = 2H| * 0.87%
9 =0 HY Bz 499,589 A & . FH| * 1.7%
7t =0 oz EdE 731,751 A = 2H| * 2.49%
Lo eYEER 32,723|HZLEHE * 6.55%
fl E[X SH FoSH| 591,749| 2™ = 2 H| * 2.3%
AR E A 22| 2,809,620((M 2 H|+ & L=+ 2= KH X H|/1.1)*1.86%+ 5,349 & g
AR Ot E A4 22 H 2,525,499|(FH 2H|+El ) * 1.86% * 1.2
g 3 E F o 569,424|(Xf 2 H| + &l = + 7| A ZH|) * 0.5%
7l B & H 7,030,818|(M 2H|+ =2 H|) * 6.1%
SIEZRBESSFE 92,246|( EH|+ X = + 7| A ZAH|) * 0.081%
A7 toaXleEEMEarTr 79,719|(X 2 H| + Xl = + 7| A ZAH]|) * 0.07%
[ & Al 14,188,913
Al 129,448,235
o g 2 2 H 7,766,894|A * 6%
0l s 7,466,690|(‘= FH[ + ZH|+ LEtEt2[H]) * 15%
s 85 7t A 144,681,819
2 7 7 XA 14,468,181|3 =27t * 10%
E o8 o 159,150,000
L= N e = 41,695,760 MERR = AL
Fa =N = MECHR{ - AL
5 & At H 200,845,760




IAY  HRE AL 2T 20| AYBA (R7)
M 2 H E 2 i 2 g 7
E o 7 A chgl| 2
& D} = 9 = = o Ot = ™ & D} = 9
01 JJT AYAl EHONHIAL: =22 20&
HE S At
0101 @ =& 2 At
1. s403 4,992,672 7,643,127 2,970 12,638,769
2. oS4 603,016 1,206,032 3,283,673 6,567,346 140,906 3,957,142 7,914,284
3. SICH 5,745,087 183,359 5,928,446
4. R 490,801 981,602 955,826 19,132 1,956,560
5. s0IAIE (sS4 28,225,335 28,225,335
6. =Lt
7. Xa=s 25,610,457 10,378,585 572,355 36,561,397
8. NP H 20,660,179 20,660,179
[ & A ] 87,421,364 25,728,243 735,363 113,884,970
* 2t = XN
- T2 XA 41,695,760 41,695,760
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>
o2

M = = 7 H 3 H g A
g B T A el =¥ H 3
T 7t = Y T 7t = 9 T 7t = % T 7t = Y

1. s403

SE=EM(0IELELRR) 25T+ 150 M2 231

SHEH &X M2 210 12,773 2,682,330 12,773 2,682,330
2= EA 4410 700 3,087,000 700 3,087,000
0ot =2k 2 50%50+1.6T M 707.7 2,390 1,691,403 2,390 1,691,403
ST ANGLE 50%50+5T KG 74.8 735 54,978 735 54,978
HIE 234 M12+L.100 EA 378 271 102,438 271 102,438
UHEELT Zoler EA 378 9,701 3,666,978 9,701 3,666,978
dEs4x 2het TON 1.67 34,044 56,853 774,742 1,293,819 1,779 2,970 810,565 1,353,642
[ & A 4,992,672 7,643,127 2,970 12,638,769




)
>
o

M = H| = 7 H 3 H g A
g 9 T 4 el =¥ H 1
T 7t = Y T 7t = 9 T 7t = % T 7t = Y
2. %84 200 2
SHE=EM(0IELELRR) 25T+ 150 M2 9.9 22 X
SHEH &X M2 9 12,773 114,957 12,773 114,957
=2 EA 189 700 132,300 700 132,300
Ot =2k 2 50%50+1.6T M 70.3 2,390 168,017 2,390 168,017
ST ANGLE 50%50+5T KG 14.2 735 10,437 735 10,437
HIE 234 M12+L.100 EA 72 271 19,512 271 19,512
UHEELT Zolet EA 72 9,701 698,472 9,701 698,472
g&Es &X 2tet TON 0.17 34,044 5,787 774,742 131,706 1,779 302 810,565 137,795
ZACIESHES M2 20.3
ZACIESHESEXR M2 19.8 13,483 266,963 118,108 2,338,538 3,543 70,151 135,134 2,675,652
[ & Al 603,016 3,283,673 70,453 3,957,142




IAY HRE I 2T OfR0IT AYBA (£F)
W OE = 2o Z o s A
% 3 = ool S o
t 7} 2 o o 7t 2 o o 7t 2 o c 7} 2 o
3.

M3 15 341,456 5,121,840 7,841 117,615 349,297 5,239,455

8cm = 19 1,138 21,622 1,138 21,622

8cm = 39 1,138 44,382 1,138 44,382

8cm = 48 1,138 54,624 1,138 54,624

8cm = 29 1,138 33,002 1,138 33,002

8cm = 53 1,138 60,314 1,138 60,314

8cm = 58 1,138 66,004 1,138 66,004

8cm = 41 1,138 46,658 1,138 46,658

8cm = 39 875 34,125 875 34,125

10cm = 32 2,188 70,016 2,188 70,016

8cm = 41 875 35,875 875 35,875

8cm = 31 875 27,125 875 27,125

8cm = 40 875 35,000 875 35,000

2-3=2 < = 39 875 34,125 875 34,125

8cm e 33 875 28,875 875 28,875

8cm = 30 1,050 31,500 1,050 31,500

= 587 112 65,744 112 65,744

=1 A 5,745,087 183,359 5,928,446




SME  TuHILE S8 20| HESAH (=)
M = o o Z 4 g A
g 9 T 4 T =¥ H 1
T 7t = 9 T 7t = 9 T 7t = 9 T 7t = 9
4. S 20 2
23cESHES 450%250+ 150 M2 2.7
2ICIESHESEN M2 2.7 13,483 36.404 118,108 318,891 3,543 135,134 364,861
2ICIESH=SY 450%330+75 EA 70
2ACIESHESHEXR M 9 1,926 17,334 16,554 148,986 18,480 166,320
NS M3 1.28 341,456 437,063 7,841 10,036 349,297 447,099
[ & Al 490,801 477,913 9,566 978,280




2018 HYBA (=2
o= CC # g
el s Hl 1
g 7} 2 o c 7t 2 9 7 2 9 g 7} 2 o
5. S0IAME(24)

EA 1 8,292,144 8,292,144 8,292,144 8,292,144

e==0I0 00l EA 1 1,680, 142 1,680, 142 1,680, 142 1,680, 142
SS5=0I0 ot O EA 1 1,680, 142 1,680, 142 1,680, 142 1,680, 142
e==0I0 2l el EA 1 1,680, 142 1,680, 142 1,680, 142 1,680, 142
EA 1 14,892,765 14,892,765 14,892,765 14,892,765

E A 28,225,335 28,225,335
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ok

O

W2 = 2 3z g A
3 # ool 2
£ 7} 2 o o 7} 2 o c 7} 3 o & 7} 2 o

1200+900%80 M2 176.4 =
M2 168 1,354 227,472 2,773 465,864 337 56,616 4,464 749,952
150%150*1000 m 124.9 8,755 1,093,499 8,755 1,093,499
m 119 436 51,884 4,528 538,832 495 58,905 5,459 649,621
P EN 8 2,201 17,608 51,721 413,768 53,922 431,376
M2 343 676 231,868 1,386 475,398 2,062 707,266
B18~19 = 12 55,427 665,124 162,800 1,953,600 16,324 195,888 234,551 2,814,612
H4.6~5.0 = 28 38,029 1,064,812 61,194 1,713,432 4,272 119,616 103,495 2,897,860
R40 = 10 446,601 4,466,010 430,533 4,305,330 14,133 141,330 891,267 8,912,670
ea 1 5,927,338 5,927,338 5,927,338 5,927,338
Es=0I0 120 ea 1 1,680, 142 1,680, 142 1,680, 142 1,680, 142
===0I0 =y ea 1 1,680, 142 1,680, 142 1,680, 142 1,680, 142
1750%x500%450 ea 5 1,400,848 7,004,240 1,400, 848 7,004,240
M3 1.75 341,456 597,548 7,841 13,721 349,297 611,269
8cm = 13 1,138 14,794 1,138 14,794
8cm = 13 1,138 14,794 1,138 14,794
8cm = 13 1,138 14,794 1,138 14,794
8cm = 13 1,138 14,794 1,138 14,794
8cm = 13 1,138 14,794 1,138 14,794
= 65 112 7,280 12 7,280
= 592 1,400 828,800 830 491, 360 2,230 1,320,160
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O

N
r
-0

1
0

250.8

450%250*150

46

450%330%*75

140

1200%900%80

176.4

N 2 &
B 7} 2 o 2 o 2 o t 7} 2o
117,500 29,469,000 117,500 29,469,000
126,000 5,796,000 126,000 5,796,000
7,000 980,000 7,000 980,000
30,900 5,450,760 30,900 5,450,760

41,695,760

=l




2 AL THA MM

Al I Tl mSE 2ol HESAHES) 29 ¢ dYTATHARYO|2HEH A (1,890,428,000)
Hl = = o T = | H| inl
A 3N = 81,633,017
M R
HE| L4, FU4E(0) 59,045
[ & Al 81,573,972
o 43 = 7 56,745,629
Z2 "3 £ 7o 4,653,141\ 2 - FH| * 82%
| [ Al 61,398,770
= g 1,813,337
71 A & H 37,583,804
&= AN R E R 2,333,153[ = 2H| * 3.8%
i 188 8 & 534,169 2H| * 0.87%
9 =0 HY Bz 1,102,002 A H - FH| * 1.7%
7t =0 oz EdE 1,614,109( X & - 2 H| * 2.49%
Lo eYEER 72181|HZEHE * 6.55%
fl E[Z SH FaH]| 1,305,149 & H = FH| * 2.3%
AR E A 22 [ 2,872,478((M ZH|+ 2 =+ 2= X1 X H|/1.1)*1.86%+ 5,349 & g
Ao E 74 22| H] 3,087,293|(X 2H| +E| ) * 1.86% * 1.2
st d 2 o 888,583|(M 2 H|+ & =+ 7| A AH|) * 0.5%
7l B & H 8,721,337|(M EH|+ = 2H|) * 6.1%
St X g235sTR 143,950|(X E2H| + Z .. + 7| A ZH|) * 0.081%
A7 toaXleEEEarTRr 124,401 |(R| 2H| + Z =+ 7| H ZH]) * 0.07%
[ & Al 59,108,653
Al 202,081,395
o g 2 2 H 12,124,883| A * 6%
0] s 19,893,324|(‘c FH| + ZH| + YEtA2[H]) * 15%
s 85 7t A 234,099,602
2 7 7 XA 23,409,960(S =7t * 10%
E o8 o 257,509,562
L= N e = 17,726,202
Fa =N =
5 & At H 275,235,764




ZAY BRI FBY OUOY HYBA (ES)
W2 = 2oy Z g 7
E 9 A 7 chol| 22
= 2 o & O 2 o o Of 3 o o O} 3 o
01 HII& HdEAl HoHIL =238 Helol&
HE S A
0101 @ & = 3 Al
1. & 3 1 8,800,674 10,193,088 6,216,728 25,210,490
2. i = 3 1 16,320,115 3,079,115 158,733 19,557,963
3. + & = 3 1 16,688,571 40,302,770 30,635,970 87,627,311
4, & & = 1 7,580,206 3,100,694 567,476 11,248,376
5 F CH 3 1 434,099 69,962 4,897 508,958
. At = A M 31,809, 352 31,809,352
=3 At 81,633,017 56,745,629 37,583,804 175,962,450
& Bt gl 1,121,040 323,243 369,054 1,813,337
A HRAE 59,045 59,045
2 = A MO 17,630,995 95,207 17,726,202
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M = H E F H| 3 H g A
g 9 T 34 el =% H 2
T 7t = 9 T 7t Cl T 7t Cl T 7t Cl

1. & =

1) JIEREEEA

L2232/ ENMII(T=30cmD| 2t) [SAII(REHHE0.7m) m 12 3,742 44,904 7,301 87,612 5,459 65,508 16,502 198,024

OtAZ I E NI (T=30cmO| 2+) 4 (REHE0.7m) m 1 1,075 1,075 1,486 1,486 1,569 1,569 4,130 4,130

OtAZEZXZHT M 25 539 13,475 1,191 29,775 25 625 1,755 43,875

2egsd201(24) T=6~8cm m 562 232 130,384 903 507,486 269 151,178 1,404 789,048

HIJl= & A =428 HE0.7m m 41 646 26,486 1,024 41,984 742 30,422 2,412 98,892

2) S21(EAH) =& REH0.7m m 741 247 183,027 393 291,213 284 210,444 924 684,684

3) = Helolns% m 120 994 119,280 3,773 452,760 4,767 572,040

4) At E(EA) L=11.0km (Al & &S ) m 3927 2,109 8,282,043 2,236 8,780,772 1,466 5,756,982 5,811 22,819,797
[ & Al 8,800,674 10,193,088 6,216,728 25,210,490

2. HH = =




ok

X = H| LI - Hi g A
) g 11 4 ool =% H 1
T 7t C o 7t = 4 o 7t = 4 T 7t =T %4

1) & =

HIDI(SAEAL =4 R AE0.7m m’ 282 228 64,296 362 102,084 262 73,884 852 240,264
SHIE O =22410.7m+Z240.7Ton m’ 96 395 37,920 2,027 194,592 336 32,256 2,758 264,768
2) S=Hs 0

dl 0l 2Et- f2:004 m’ 6 26,738 160,428 26,738 160,428
PERIEMENEH(1E) ®=900mm H=1.30M P EN 4 80,941 323,764 114,291 457,164 195,232 780,928
E2ts ¥ =g 2 = ton 0.12 6,117 734 493,354 59,202 3,919 470 503,390 60,406
HESH D 648mm (2E&&) EA 4 138,333 553,332 138,333 553,332
PEALCHEI & X (d=22mm) EA 16 2,140 34,240 2,140 34,240
3) LU= 0

dl 0l 2EtE f2:004 m’ 6 26,738 160,428 26,738 160,428
PERIGOHENZEE(15) ®=900mm H=1.20M D] EN 4 80,941 323,764 108,062 432,248 189,003 756,012
E20ts € X8 2 = ton 0.12 6,117 734 493,354 59,202 3,919 470 503,390 60,406
=5 D 648mm (EE= &) EA 4 138,333 553,332 138,333 553,332
PEALCHE| & X ( d=22mm) EA 16 4,377 70,032 2,140 34,240 6,517 104,272
4) AT ER4L 12401 = 2 (0450mm) M 69 80,939 5,584,791 4,637 319,953 91 6,279 85,667 5,911,023
5) s gg=R4d D240l 2 (0300mm) M 112 40,572 4,544,064 3,055 342,160 60 6,720 43,687 4,892,944
6) PE Sl E&H0| 410+510%H600( 71 4 ) EA 12 101,561 1,218,732 5,078 60,936 106,639 1,279,668
7) AR D24 01=H 2 (0200mm) M 59 21,323 1,258,057 2,617 154,403 51 3,009 23,991 1,415,469
g8) SRz 200%20070 M 22 58,268 1,281,896 3,404 74,888 1,220 26,840 62,892 1,383,624
9) & = & 0

dl 0l 2EHE fz2:014 m’ 2 26,738 53,476 26,738 53,476
RES &xl,0~7m m’ 16 1,976 31,616 16,373 261,968 491 7,856 18,840 301,440
SENEE 62l ,H=7m0O| Bt m* 1 5,387 5,387 12,430 12,430 17,817 17,817
E2ts ¥ =g 2 = ton 0.057 6,117 348 493,354 28,121 3,919 223 503,390 28,692
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W oE = 2oy 3o g A
E 9 3 = chel| 4 5
c 7} 2 o o 7t 2 o o 7t 2o c 7} 2 o
AE 0 700%700%50 EA 3 60,411 181,233 60,411 181,233
10) WAH(UEO0l=01H) 0
WA (2HA) HPDE DC == 2t(D200mm) M 10 12,157 121,570 2,617 26,170 51 510 14,825 148,250
W (K& ) HPDE DC = =2t(D150mm) M 6 7,885 47,310 1,845 11,070 36 216 9,766 58,596
S8 Y 24 m’ 39 437 17,043 13 507 450 17,550
MERL D 25mm m’ 5 20,032 100, 160 7,841 39,205 27,873 139, 365
gt A ] 16,320,115 3,079,115 158,733 19,557,963
3. &2 & = =
NE 3
EHIJI (£ AL =4 2&AE0.8m m’ 3108 272 845,376 327 1,016,316 253 786,324 852 2,648,016




)
>
o

M = H| = 5 H| 3 g A
5 9 T 4 ol = H o
T 7t = 9 T 7t = % T 7t = % T 7t = %
SHIIE O 1=10%+ 2| HI90% m’ 330 310 102,300 2,390 788,700 211 69,630 2,911 960,630
2) ERYNMS
a) C. |I. P
H-PILE Z<ED|IEB(EAL) 250x250x9x 14 M 645 5,024 3,240,480 4,778 3,081,810 3,940 2,541,300 13,742 8,863,590
HNOlA=FE D 406 M 645 460 296,700 1,435 925,575 2,801 1,806,645 4,696 3,028,920
H-PILE &&= &Et 300x200x9x 14 = 20 2,527 50,540 22,193 443,860 9,840 196,800 34,560 691,200
ClPp 2224 b N 55 1,763 96,965 15,940 876,700 8,320 457,600 26,023 1,431,265
20t € X8 2F ton 9.115 4,705 42,886 439,326 4,004,456 3,322 30,280 447,353 4,077,622
ClP 2ZdclEEH m’ 81 1,932 156,492 11,599 939,519 3,944 319,464 17,475 1,415,475
CAP BEAM & X| M 29.6 6,380 188,848 32,861 972,685 61 1,805 39,302 1,163,338
b) POST-PILE
H-PILE ZSED|IES(EAL) 250x250x9x 14 M 66. 1 5,024 332,086 4,778 315,825 3,940 260,434 13,742 908, 345
ANolAFE D 406 M 66.1 460 30,406 1,435 94,853 2,801 185, 146 4,696 310,405
H-PILE == &tEt 300x200x9x 14 = 8 2,527 20,216 22,193 177,544 9,840 78,720 34,560 276,480
H-PILE 2= SO (LB2H) M 66. 1 931 61,539 2,454 162,209 1,585 104,768 4,970 328,516
c) H-PILE+tESH
H-PILE Z<ED|IEB(EAL) 250x250x9x 14 M 252.2 5,024 1,267,052 4,778 1,205,011 3,940 993,668 13,742 3,465,731
Aol FE D 406 M 252.2 460 116,012 1,435 361,907 2,801 706,412 4,696 1,184,331
H-PILE &&= 2rEt 300x200x9x 14 = 30 2,527 75,810 22,193 665,790 9,840 295,200 34,560 1,036,800
H-PILE Z=&D| SO Y (L2t M 252.2 931 234,798 2,454 618,898 1,585 399,737 4,970 1,253,433
Est £X T=80mm m’ 260 21,722 5,647,720 17,313 4,501,380 2,082 541,320 41,117 10,690,420
3) JIANES
a) W&
TIPSE~=PN H-300%300~300%200 M 159.2 467 74,346 11,124 1,770,940 2,354 374,756 13,945 2,220,042
OEEA H-300+300~300%200 M 159.2 323 51,421 6,804 1,083, 196 1,615 257,108 8,742 1,391,725




ok

M = H| = 5 H| 3 g A
5 9 T 4 ol = H| 1
T 7t = 9 o 7t = % o 7t = 4 T 7t = %

&EARAE H300%300 EA 20 19,954 399,080 18,445 368,900 729 14,580 39,128 782,560

&0l H300+300 EA 16 50,624 809,984 3,723 59,568 72 1,152 54,419 870,704
220 ExXIEEN L-100%100*10 EA 100 -2,526 -252,600 6,069 606,900 323 32,300 3,866 386,600
b) HEE

HE 2L X 5.0m0IGH(Z=2t) = 16 2,608 41,728 78,901 1,262,416 13,385 214,160 94,894 1,518,304

HEEEN 5.0m0IGtH(==2t) = 16 1,798 28,768 47,388 758,208 9,125 146,000 58,311 932,976

HE 2L X 9~11mOI Gt (F=2t) = 8 4,047 32,376 95,183 761,464 20,361 162,888 119,591 956,728

HE2E 9~11mO| 3t (F=2}) = 8 2,877 23,016 58,298 466,384 14,338 114,704 75,513 604,104

HE 24X 12~14m0I 5t (==24) = 4 4,767 19,068 103,929 415,716 23,858 95,432 132,554 530,216

HEEEA 12~14m0| Gt (Z=24) = 4 3,327 13,308 63,908 255,632 16,526 66,104 83,761 335,044

HE 24X 15~18mO0I 5t (==24) = 12 5,486 65,832 110,252 1,323,024 27,320 327,840 143,058 1,716,696

HEEEA 15~18m0| 5t (==21) = 12 3,867 46,404 67,759 813,108 19,108 229,296 90,734 1,088,808

HEEAZ L of Xl H300+300 EA 28 21,830 611,240 112,146 3,140,088 1,325 37,100 135,301 3,788,428
c) $HAY

2HEE L HY X H-300%200%9+* 14 M 121 467 56,507 11,124 1,346,004 2,206 266,926 13,797 1,669,437

2HEE & HEEA H-300+200+9+* 14 M 121 323 39,083 6,804 823,284 1,526 184,646 8,653 1,047,013
d) mAa=er3t

oAasetat M PN 28 19,083 534,324 9,437 264,236 590 16,520 29,110 815,080
omA=et3l xXI<LEN D EN 28 2,687 75,236 99,103 2,774,884 1,844 51,632 103,634 2,901,752
e) JACK &XI&A DN 24 36,309 871,416 12,730 305,520 49,039 1,176,936
f) SHEH DI

SHEHM DI & X H300+300 EA 12 28,484 341,808 28,888 346,656 1,794 21,528 59, 166 709,992
SHEHMIOIE A H300%300 EA 12 16,967 203,604 16,967 203,604
4) HES 34

IFAIEAH=F A& el Al 1 18,246,045 18,246,045 18,246,045 18,246,045




W oE = 2oy 3o S
& 3 ool S
c 7} 2 o 7t 2 o 7t 2 o 7t 2 o
A 16,688,571 40,302,770 30,635,970 87,627,311
f2:o0d 26,738 320,856 26,738 320,856
63l ,H=7m0O| 2t 5,387 48,483 12,430 111,870 17,817 160, 353
D 25mm 20,032 20,0832 7,841 7,841 27,873 27,873
=N 3+ A4 (180x200x 1000mm ) 1,097 52,656 7,105 341,040 744 35,712 8,946 429,408




ZAE  BaHA: 22 Of20Y AYUBAHES)
W = = 2 o A g A
z 9 3 A chel| 4 H 1
c 7} 2 o o 7t 2 o o 7t 2o c 7} 2 o
C2ZAHA L 322 (150* 150%1000mm ) M 147 881 129,507 4,025 591,675 495 72,765 5,401 793,947
2)0tAE2ZH
OtAZHSEILEYOE ST m’ 254 95 24,130 288 73,152 121 30,734 504 128,016
SEvs RSC-4, 35¢ /a a 2.5 96 240 18,309 45,772 76 190 18,481 46,202
OAE2I|E(BBE ) ELEYCHE SH =10cm m’ 254 163 41,402 400 101,600 197 50,038 760 193,040
It DE MC-1, 754 /a a 2.5 1,120 2,800 8,202 20,505 152 380 9,474 23,685
SXINSELLCHE sdETE m’ 45 1,117 50,265 1,811 81,495 1,083 48,735 4,011 180,495
SNANSELELCHE =82 E m’ 63 1,029 64,827 1,497 94,311 992 62,496 3,518 221,634
3) BEEELE HE=H
Sy =3 = RPN & E =S T=6~8cm m’ 299 22,277 6,660,823 2,773 829,127 567 169,533 25,617 7,659,483
SR SELLUCHE A AHE m’ 59 1,709 100,831 5,768 340,312 1,447 85,373 8,924 526,516
4) Hel0l=0leHZ2eeEs
=0IHZ2dEHL T=30Cm(0{ 2101 =0l&) m’ 18 21,345 384,210 7,841 141,138 640 11,520 29,826 536,868
[ & A ] 7,580,206 3,100,694 567,476 11,248,376
5. & CH 3
1) Xh& & A4
M (S EA) SN A m’ 2 16,388 32,776 1,005 2,010 144 288 17,537 35,074
M (A BH AR AL m’ 13 13,546 176,098 1,005 13,065 144 1,872 14,695 191,035
2) IIAEX 750%180%120 EA 7 32,175 225,225 7,841 b4 ,887 391 2,737 40,407 282,849




W = = 2oy Z o g A
# 3 ool ¥
T 7t 2o T 7t 2 o T 7t 2 o T 7} 2 o
434,099 69,962 4,897 508,958
A= X MO

RSC-4 D/M 1 98,059 98,059 98,059 98,059
RSC-3 D/M 1 98,059 98,059 98,059 98,059
SEEHE m 133 12,257 1,630, 181 12,257 1,630, 181
SEEHE m 84 14,446 1,213,464 14,446 1,213,464




OH
Rl
O

W oE = 2oy 3o S
E 9 3 ool S H o
c 7} 2 o o 7} 2 o o 7} 2o c 7} 2 o
EXUEIAA (M) 180x200x 1000 EA 49 16,459 806,491 16,459 806,491
CEIAAN(EHA) 150x150x 1000 EA 151 10,506 1,586,406 10,506 1,586,406
4) BEZ
dEHEY =S T=6Cm (dZ) Ol 3919 1,129 4,424 551 1,129 4,424 551
dEHY=H T=6Cm (OFOIE2l) OH 3919 1,129 4,424,551 1,129 4,424,551
5) ExE¢
E+2 T=60 m’ 11 23,016 253,176 23,016 253,176
6) Jt&TH
X EHE 2 (OHE) 300%200%9%14(15%= &) Ton 30.743 98,497 3,028,093 98,497 3,028,093
FEEHE L (AE) 300%300%10%15 Ton 12.036 656,647 7,908,403 656,647 7,903,403
AEEHE 2 (OtE) 300%300*10x15(15% == ) Ton 62.199 98,497 6,126,414 98,497 6,126,414
LE2(Ot4) 100*100%10( 15%= &) kg 2232 97 216,504 97 216,504
[ & A ] 31,809, 352 31,809, 352
*. & gt dl
= e sig="Re] DN 20kmO| LH (73t =2) Ton 107.21 8,432 903,994 1,705 182,793 10,137 1,086,787
d228 2 ot Xty 10kmO|LH (R 3t =) Ton 9.693 6,648 64,439 1,705 16,526 8,353 80,965
=J|28HH| ZHLH (L=10.0km) Al 1 152,607 162,607 323,243 323,243 169,735 169,735 645,585 645,585
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>
o1}
e
£l
]
|.|'
H

2 St
o =
g 9 oel| % 2
=1 OH =1 OH =1 OH =1 OH
=} | =] | (=] | =} |
olgaz 013mm( Gt Xl 1,673,865 1,673,865
Olgd2 016mm( Gt Xl 256,392 256,392
olgd&E= 029mm( St X 4,043,868 4,043,868
TEFTE 5,974,125 32,260 5,974,125 32,260
ef Al ] 17,630,995 95,207 17,726,202




2 AL THA MM

Al EIE| S 23 OfElolE ARSAHIIA) T ¢ AN T TH AR O BHEFH 21 (W1,890,428,000)
H = = H T A H H inl
2 H X = H 269,932,681
M R
j Y, Bk ()
[ & Al 269,932,681
o 43 = 7 194,303,553
Z2 "3 £ 7o 15,932,891 & H - FH| * 82%
o [ Al 210,236,444
2 &
71 A & H 33,288,675
&= AN R YR 7,988,984 = 2 H| * 3.8%
i 188 8 & 1,829,057| =2 H| * 0.87%
9 =0 HY Bz 3772915 A - L 2 H| * 1.7%
7t =0 oz EdE 5,526,212| A ™ . 2H| * 2.49%
Lo eYEEE 247,125|HZEHE * 6.55%
fl E[X SH FaSH| 4,468,981\ 2 - FH| * 2.3%
AR E A 22| H 8,870,736((M =2 H|+ & L= + 2=t KX H| /1.1)*1.86%+ 5,349 & HE
A OHH H 74 22| H 10,361, 752|(RI 28|+ 2l ) * 1.86% * 1.2
st 3 8 Ao 2,487,624 |(M EH| + &l e + 7| H ZH]|) * 0.5%
7 B & H 29,290,316|(M 2H|+ = 2 H|) * 6.1%
Sl 2R 2ESS4E 402,995|(R| 2 H|+Z =+ 7| A AH]) * 0.081%
A7 toaXleEEMEasTRr 348,267|(X 2 H|+E . + 7| A ZH|) * 0.07%
[ & Al 100,012,903
Al 580,182,028
o g 2 2 H 34,810,921|A * 6%
0] s 51,750,946|(:c FH| + A H| + LEH22[H]) * 15%
s 85 7t A 666,743,895
2 7 7 XA 66,674,389[S =7t * 10%
= 2 o 733,418,284
L= N e = 13,953,586 MERR = AL
Fa =N = MECHR{ - AL
MNMEd2Ea 35,878,152
5 & At H 783,250,022




TAY  BRE D= FBY OfRA0IT HYBAT|ALHIBAY
o= = 2oy 3o g 7
E 9 A 7 chol| 22
= 2 o & O 2 o o Of 3 o o O} 3 o
01 FII& d4Al HuHILE ==
HE S A
0101 < JIAHAUISA
0101 EHHIE XIS AL 16,402,426 2,551,286 18,953,712
0102 =223 Al 2,875,301 2,867,109 170,660 5,913,070
0103 JIH & BH 2t S At
010301 =&2=HH& S Al 5,991,191 5,586,620 5,017 11,582,828
010302 HEHHH 23 At 3,751,725 2,242,535 5,994,260
010303 < 2HHH2t S Al 8,856,120 6,873,642 2,213 15,731,975
0104 HEEHH 23 A 10,064,301 22,856,461 76,544 32,997,306
0105 <AMI|FAE XIS A 30,087,857 5,250,768 35,338,625
0106 ====Etl2Z At 6,579,054 6,515,236 28 13,094,318
0107 <Hi==HH 2t S At 4,882,170 4,453,408 302 9,335,880
0108 &BIIEELXIZA 4,470,094 6,754,315 11,224,409
0109 JtAHH2tS At
010901 =2IJtA {23 AL
01090101  CHAILH IOt AHH 2t Z AL 461,312 484,511 33,676 979,499
01090102 CHAI LI DA HH 2t S AL 485,306 256,976 20,465 762,747
010902 =LHIFAHH 2SS AL 4,931,320 1,588,565 6,519,885
0110 AIAEIZHHD1 4 XIS AL 9,805,137 9,805,137
0111 MADI0IES2HZZ AL
011101 J| At AH B 44,718,745 44,718,745
011102 I AHHA X 98,996 3,299,980 3,398,976




TAY  BRE D= FBY OfRA0IT HYBAT|ALHIBAY
W= = 2oy 3z g A
E 3 A3 £l 4%
& Ot = A & Ot = oA & Ot = oA & Jf = 9
011103 HH2-XtXH bl 1 39,277,250 39,277,250
011104  HH2t& X1 Z Akt 1 2,521,091 74,677,098 112,860 77,311,049
011105 22 0H& SAtd| 1 6,444,012 6,867,043 1,639,482 14,950,537
011106 &IILXSHOH Z AL 1 10,505,839 2,104,272 12,610,111
0112 XIE&EHIBA 1
011201 HHIE XIS At 1 10,019,377 720,543 10,739,920
011202 DI H & i 2t S At 1 16,022,976 9,309,635 25,332,611
011203 X=ZwWI|&XISA 1 28,391,652 26,085,060 31,110,372 85,587,084
011204 =2 X SHi2& XIS Al 1 2,289,429 2,958,490 117,056 5,364,975
[ & A ] 269,932,681 194,303,553 33,288,675 497,524,909
02 253 At
0201 =S it2&a A 6,981,376 6,972,210 13,953,586
020101 223 Al 1 6,981,376 6,972,210 13,953, 586
03 ANEZE3 33,608,751 2,095,149 174,252 35,878,152
0301 &=EAd=2E3 1 9,470,857 2,095,149 174,252 11,740,258
0302 JtAANAEZES 1 407,616 407,616
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AHZIA EHI)

M = H| = F H 3 H g A
g 9 T+ 34 ol =™ H 2
o 7t C T 7t Cl T 7t = 9 T 7t = 9

0101 ZHHIEXISAt
SuE|(ed) 75Mcal /hr CH 1 4,027,438 4,027,438 4,027,438 4,027,438
SUE|(Ed) 68Mcal /hr CH 1 3,773,534 3,773,534 3,773,534 3,773,534
2 H & &3 (SS400) 609.6 ¢ x983H(200LIT) CH 1 1,155,699 1,155,699 1,155,699 1,155,699
2 H & 2 & e 3 (SS400) 457.2 ¢ x1,005H(100LIT) CH 1 875,530 875,530 875,530 875,530
2sTsgE T (eletel) 83LPMx 10Mx0 . 4KW CH 2 85,461 170,922 100,719 201,438 186,180 372,360|= & 253
SEasEI(2letel) 11LPMx4Mx0 . O4KW CH 2 37,788 75,576 100,719 201,438 138,507 217,014|= 2 254
Hi=BZ(+==5E) 300LPMx T1Mx 1. 5KW CH 2 540,067 1,080, 134 199,813 399,626 739,880 1,479,760|= & 255
=B Z(=ZE) 240LPMx7Mx0 . 75KW CH 2 399,288 798,576 176,702 353,404 575,990 1,151,980|= & 256
eretel@  700= x700L 6, 400CMHx20MMAQx2 . 2KW CH 2 1,048,404 2,096,808 275,823 551,646 1,324,227 2,648,454|= & 257
eletel gl 450 x450L 1, 000CMHx20MMAQx0 . 2KW CH 2 540,020 1,080,040 169,084 338, 168 709,104 1,418,208|= & 258
AM=Z28  #3 SS 6, 800CMHx30MMAQx 1. 5KW CH 1 564,535 564,535 169,084 169,084 733,619 733,619|=2 & 259
HEHE D150 210CMHXxEMMAQx0 . O3KW CH 13 31,054 403,702 13,712 178,256 44,766 581,958|= & 260
HE 2 (XSIHHE) 0250 720CMHxBEMMAQxX0 . O38KW CH 3 26,096 78,288 52,742 158,226 78,838 236,514|= & 261
& f (Hanger ) AT EI)] 50KG EA 16 11,119 177,904 11,119 177,904
NE=3IPNFSPN S ATE 25mm 50kg EA 4 10,935 43,740 10,935 43,740
[ & A 16,402,426 2,551,286 18,953,712
0102 =2/HH 23 At




DAY BRE A F2Y Of20|T AYBANIIAAH])
W o= v 2o # oy & 7
E o # A crgl| 4 5
e 7} 2 o c 7} 2 o e 7} 2 o e 7} 2 o
PVC2t(VG1), D100 4 8,019 32,076 21,546 86, 184 29,565 118,260 = 29
PVC2t(VG1), D125 2 10,586 21,172 25,730 51,460 36,316 72,632|2 2 30
SUS2t, D50x3T 24 14,416 345,984 7,615 182,760 22,031 528,744|S & 62
(SPPS 38+HDPE), D40 26 47,998 1,247,948 27,174 706,524 75,172 1,954 472|122 63
Al (SUS & #10) D50 6 4,123 24,738 4,123 24,738
SLI (SUS LEAF) D50 2 11,933 23,866 11,933 23,866
LIZ (SUS LFAF) D50 2 8,203 16,406 8,203 16,406
D40 8 86,248 689,984 86,248 689,984
Q- A (2EyE 1
=&, 040 2 58,626 117,252 7,925 15,850 66,551 133,102 & 70
swW-Y AEl 10kg,D50 2 32,456 64,912 7,925 15,850 40,381 80,762|= X 93
D50 14 1,977 27,678 11,982 167,748 13,959 105,426 & 13
D40 8 5,695 45,560 187,371 1,498,968 17,356 138,848 210,422 1,683,376|= &
BT DI (EAF) =426t % 0.8M3 30 257 7,710 327 9,810 253 7,590 837 25,110
CTIHRSIILCHE 1= 10%+ 2| H190% 21 387 8,127 4,811 101,031 256 5,376 5,454 114,534
ME(EA} L=11.0km 9 2,015 18,135 2,261 20,349 1,483 13,347 5,759 51,831
9 20,417 183,753 1,175 10,575 611 5,499 22,203 199,827 &
[ & A ] 2,875,301 2,867,109 170,660 5,913,070
010301 ==2=Hi&S At
SL2(IIHA) S22 (S#40), D20 M 9 2,760 24,840 33,852 304,668 36,612 329,508|= &
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W& [ A s A
= F || 4 Hl 2
e 7} 2 o et 7} = et 7} 2 o e 7} 2 o

S22 (I1H 4 =2t (S#40), 025 M 11 3,843 42,273 42,175 463,925 46,018 506,198|= & 45
S22 (D1 H 4 =2t (S#40), D32 M 12 5,043 60,516 51,752 621,024 56,795 681,540|= & 46
S22 (I H A S22+ (S#40), D40 M 10 5,865 58,650 58,300 583,000 64,165 641,650 = 47
B2 (22EA 40TxD20 M 7 5,128 35,896 6,951 48,657 12,079 84 ,553|= 2 197
AP 2(ZetE 50TxD25 M 11 6,425 70,675 7,407 81,477 13,832 152,152 & 198
2AE2(22tEN 50TxD32 M 12 6,794 81,528 8,886 106,632 15,680 188,160[= & 199
AL 2(ZetE 50TxD40 M 10 7,125 71,250 10,192 101,920 17,317 173,170 & 200
S84 20|34 sSAaYE (8 S#40) D20 EA 5 422 2,110 422 2,110
A 20|34 sdY (28 S#40) D25 EA 4 472 1,888 472 1,888
28 A 20|34 sdY (& S#40) D32 EA 4 630 2,520 630 2,520
8A 20|34 SEI0l (& S#40) D20 EA 1 819 819 819 819
228 A 20|34 SEI0| (& S#40) D25 EA 10 1,014 10,140 1,014 10, 140
84 2013 SEI0] (22& S#40) D32 EA 8 1,248 9,984 1,248 9,984
Z28A 20|34 EE|0l (22& S#40) 040 EA 11 1,632 17,952 1,632 17,952
sS8A 20|34 S2SAM (& S#40) 025 EA 4 472 1,888 472 1,888
sSHA 2013 SelSA (& S#40) D32 EA 4 472 1,888 472 1,888
sHA 2013 SelEA (28 S#40) 040 EA 6 611 3,666 611 3,666
sSHA 2013 SH (2& S#40) D25 M 2 945 1,890 945 1,890
Ct A SOCKOLET D20 EA 3 3,274 9,822 3,274 9,822
Gt A THREADOLET D20 EA 4 3,598 14,392 3,598 14,392
HOlE &S cStxZ&, D20 EA 7 22,241 155,687 5,354 37,478 27,595 193,165(|2 X 66
HOIE &e SX=elXl, 025 EA 2 51,207 102,414 5,354 10,708 56,561 113,122 & 67
HOIE Wwe X=X, D32 EA 2 84,747 169,494 7,925 15,850 92,672 185,344 & 68
HOIE &= SX=el X, D40 EA 4 84,747 338,988 7,925 31,700 92,672 370,688|= = 69
2zE8 ¢y SXEH, D20 EA 3 22,184 66,552 5,354 16,062 27,538 82,6141 & 71
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HuHIAE 35E 20| AESAHZIAZH])

M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9
=28 @= S S e Xl, D40 EA 1 82,243 82,243 7,925 7,925 90, 168 90,168|= & 72
gExd a- HS=EIE, F, 20K, D32 EA 1 861,058 861,058 7,925 7,925 868,983 868,983|= & 97
2 XHHEX (5/SCH40) D25x20x25 ) 1 963,487 963,487 430,082 430,082 113 113 1,393,682 1,393,682|= 2 102
S XEHEX (S/SCH40) D32x25x32 B E 1 1,151,328 1,151,328 519,229 519,229 161 161 1,670,718 1,670,718|= & 103
H(z2) D15 O 2 4 168,797 675,188 42,210 168,840 21 84 211,028 844,112|= 2 108
AEHO0IH(FZ) 20kg, D40 EA 2 51,368 102,736 7,925 15,850 59,293 118,586|= & 112
X (52) S 4 9,687 38,748 5,354 21,416 15,041 60, 164|= & 121
X(s2) ES 4 29,901 119,604 5,354 21,416 35,255 141,020|= & 123
A2 COVER(ZetatAl) D20+40T EA 5 5,238 26,190 5,238 26,190
A COVER(Zetatal) D25+50T EA 4 5,695 22,780 5,695 22,780
A COVER(ZetatAl) D32«50T EA 4 6,075 24,300 6,075 24,300
020 I 2 7 180 1,260 5,204 36,428 4 28 5,388 37,716|= 2 126
gll X1 (20KG) 025 ) E 6 4,144 24,864 6,294 37,764 5 30 10,443 62,658|= 2 158
&ll XI (20KG) 032 | E 10 4,548 45,480 7,504 75,040 7 70 12,059 120,590|= 2 159
&ll X1 (20KG) 040 B 14 4,960 69,440 8,472 118,608 7 98 13,439 188,146|= & 160
&ll XI (20KG) 065 B E 2 8,733 17,466 12,709 25,418 12 24 21,454 42,908|= & 161
S(X==EHe, 9H) 040 I A 2 4,168 8,336 7,366 14,732 11,534 23,068|= 2 184
S HIZHA, D20 i 2 201 402 201 402
E BIZ&, D25 I 6 210 1,260 210 1,260
E HIZ2HA, D32 I 6 236 1,416 236 1,416
UNE=E BIZ&, D40 H 5 253 1,265 253 1,265
100 x50 X 5% 7. 5mm KG 337 674 227,138 674 227,138
diolE 200x200x9T ) E 18 3,664 65,952 12,770 229,860 39 702 16,473 296,514\ 2 192
LI (M) 2hEt KG 337 186 62,682 3,789 1,276,893 11 3,707 3,986 1,343,282|= 2 5
EH(ZE) BE23] 1= M2 14 7 10,878 5,098 71,372 5,875 82,250[= & 11




SAHE  HuHA: 38 O 20| AESAHZ[AZH])
M = H| = 5 H 3 g A
g 3 A A ool %
g 7} = c 7t 2 o g 7} 2 o g 7} 2 o
=0L0|HQIE & 25| 1% M2 19 1,472 27,968 4,459 84,721 5,931 112,689
[ & H ] 5,991,191 5,586,620 5,017 11,582,828
010302 Lretbh 2B Al
AHIQIZIAZRH(IIH ) SUSZH, D20x3T M 2 6,739 13,478 6,223 12,446 12,962 25,924\ 5 H
AHIQIZIAZBH(IIHA) SUSZH, D25x3T M 6 8,278 49,668 8,835 53,010 17,113 102,678|5 2
AHIQIZIAZR(DIH L) SUSZH, D50x3T M 56 15,287 856,072 14,139 791,784 29,426 1,647,856|5 &
UBHHZIE STSAZ 0/S4l SU (SUS LEAH) D50 EA 6 11,933 71,598 11,933 71,598
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AESAEA2H])

M= L g # g A
A ool 4 H o
7} a9 7} 3 o R o 7} a9

2ot 2 s LIZ (SUS LtAF) D20 1,969 15,752 1,969 15,752
2ot 2= LIZ (SUS LEAF) D50 8,203 114,842 8,203 114,842
2ot 2 S AL (SUS E&#10) D20 1,146 6,876 1,146 6,876
2ot 2= A2 (SUS 2&E#10) D25 1,593 3,186 1,593 3,186
Rl R = A2 (SUS & #10) D50 4,123 65,968 4,123 65,968
2ot 2 S ElOl (SUS & S#10) D50 7,433 81,763 7,433 81,763
L 2t S el=AM (SUSE&SH#10) D50 2,819 16,914 2,819 16,914
M3 &€= LEARAL AH @12l A, D50 67,915 135,830 7,925 15,850 75,840 151,680|= & 78
2 ge SYE Ad 11,367 45,468 5,354 21,416 16,721 66,884|= & 89
= d= sSdE Ad 32,456 194,736 7,925 47,550 40,381 242,286|= £ 93
AEYH Ol (LEAE) 10kg, D50 26,503 53,006 7,925 15,850 34,428 68,856|= H 110
SHAN=E = HIE XS, D50*10k 29,232 116,928 12,496 49,984 41,728 166,912|= 2 114
Jl==2 050 1 1,350,304 1,350,304 7,925 7,925 1,358,229 1,358,229|= 2 118
2 A S 17,189 68,756 5,354 21,416 22,543 90,172|= % 119
=y | 31,924 127,696 5,354 21,416 37,278 149, 12| & 124
A Gl 2t 020 731 8,772 6,899 82,788 7,630 91,560|= & 133
A Gl 2t 025 970 3,880 7,988 31,952 8,958 35,832|= & 134
A Gl 2t D50 1,977 158, 160 11,982 958,560 13,959 1,116,720|= & 137
AHIO D50 18,757 150,056 11,982 95,856 30,739 245,912([= & 163
A 025 1,324 3,972 1,324 3,972|s 2 172
A 050 1,604 27,268 1,604 27,268|= £ 175
Z22AE(XN=THel, E9H) 050 5,388 10,776 7,366 14,732 12,754 25,508|= H 185
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W= H = 2y Z g 7
# 3 crel| 2% n
7t 3o 7} 3o 7t 3 o o 3o

LIZ (SUS LtAH) D50 8,203 8,203 ,203 8,203

H X (FLANGE ) SUS™ Z e XI (10KG) D65 20,793 20,793 , 793 20,793
& &, 10kg, D50 43,138 86,276 7,925 15,850 ,063 102, 126|= &
=&, 10kg, D65 59,529 119,058 17,291 34,582 ,820 153,640(=
& &, 10kg, D50 33,332 66,664 7,925 15,850 ,257 82,514|= &
=&, 10kg, D65 36,327 72,654 17,291 34, ,618 107,236|= &
LEARAL, AHIQI2I A D32 50,054 150, 162 7,925 23, ,979 173,937|= &
LEARAL AH @2l A, D40 62,750 62,750 7,925 7, ,675 70,675|= &
LEARAL A H @12l A, D50 67,915 67,915 7,925 7, ,840 75,840[= &
ABEIAI], D65 42,552 42,552 17,291 17, ,843 59,843|= &
GEAR, 10K+D65 182,190 728,760 17,291 69, ,481 797,924|2 &
SEE AH 10kg, D20 11,367 159, 138 5,354 74, , 721 234,094 |2 &
S¢S AH 10kg,D32 19,849 119,094 7,925 47, (74 166,644(|= &
S¢S AHl 10kg, D40 24,051 48,102 7,925 15, ,976 63,952|= &
S¢S AHN 10kg, D50 32,456 227,192 7,925 55, ,381 282,667|= &
| (STS/28) D40x40x40 842,934 842,934 490,600 490, 1,333,534 1,333,534|= &
D50x50x50 1 1,012,970 1,012,970 573,100 573, 1,586,070 1,586,070|= &
D50x50x50 795,028 795,028 562,391 562, 1,357,419 1,357,419|= &
015 45,151 90,302 16,065 32, ,216 122,432|= 2

065 2,626 5,252 ,626 5,252
AE 0l (LEAL) 10kg, D32 13,895 27,790 7,925 15, ,820 43,640|= 2
AEYOIH(ZeHX) 10kg, D65 43,594 43,594 17,291 17, ,885 60,885(= &
SAHAE QE HZXH, D32x10k 21,296 85,184 12,496 49, , 792 135, 168|= &
SHAE XQUE HEZ XS, D65*10k 36,908 73,816 27,906 55, 64,814 129,628|= &
228X I (W.H.C) 065 22,178 22,178 9,699 9, 31,877 31,877|= &




ok

O

AESAEA2H])

M= CC A g A
7+ 3 ool 4 H o
o 7} a9 o 7} 3 o o 7} 3 o o 7} a9

050 EA 2 40,861 81,722 7,925 15,850 48,786 97,572|1= & 117

HA X (STS) N 3 17,189 51,567 5,354 16,062 22,543 67,629|= & 119
X 4 9,909 39,636 5,354 21,416 15,263 61,0522 2 120

X 4 31,924 127,696 5,354 21,416 37,278 149, 12|22 124

D65 b N 21 693 14,553 12,709 266,889 12 252 13,414 281,694|= 2 130

080 P EN 12 835 10,020 14,645 175,740 25 300 15,505 186,060|= & 131

065 I 2 10 6,518 65, 180 12,709 127,090 12 120 19,239 192,390(= 2 156

D32 I 2 8 15,236 121,888 9,320 74,560 24,556 196,448(= & 162

AH Qe A 065 I 2 20 23,011 460,220 14,403 288,060 37,414 748,280(= &% 164
050 I 2 1 1,307 1,307 1,307 1,307|= & 165

D65 D 7 1,342 9,394 1,342 9,3%|=H 166

080 ) 2 1,499 2,998 1,499 2,998|= H 167

D15 D 1 1,254 1,254 1,254 1,254l 2 170

020 D N 1 1,289 1,289 1,289 1,289 & 171

025 D N 9 1,324 11,916 1,324 11,916|= 2 172

032 I 2 7 1,394 9,758 1,394 9,758|=H 173

040 D N 17 1,429 24,293 1,429 24,2932 & 174

D50 DN 18 1,604 28,872 1,604 28,872|= & 175

D65 b N 7 1,744 12,208 1,744 12,208|= 2 176

020 DN 1 2,000 2,000 7,366 7,366 9,366 9,366|= H 181

A2 E(KI=EH 2 025 B N 1 2,490 2,490 7,366 7,366 9,856 9,856|=H 182
032 P EN 2 3,613 7,226 7,366 14,732 10,979 21,958|= & 183

040 I 2 3 4,168 12,504 7,366 22,098 11,534 34,602|= & 184

050 P EN 2 5,388 10,776 7,366 14,732 12,754 25,508|= £ 185

065 I 2 1 7,978 7,978 8,801 8,801 16,779 16,779|= 2 186
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M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

Z2aAeE (K=EiELg) 050 ) E 1 6,218 6,218 10,477 10,477 28 28 16,723 16,723|= 2 188
Z2aAelE (K=2Eg) 065 D e 1 9,068 9,068 12,747 12,747 37 37 21,852 21,852|= 2 189
BODJIHEX (=) BU2UHEXII= DL 2 82,875 165,750 250,036 500,072 738 1,476 333,649 667,298|= & 193
TEHUEE () BE23] 1= M2 3 7 2,331 5,098 15,294 5,875 17,625|2 2 11
[ & A 8,856,120 6,873,642 2,213 15,731,975
0104 HEHHH 2t 3 At
AHQl 2l AT 2 (S SuS2t, D15x3T M 2 5,188 10,376 4,174 8,348 9,362 18,724|2 2 23
AH QA2 (S L) SuS2t, D20x3T M 166 6,699 1,112,034 4,867 807,922 11,566 1,919,956|= & 24
A2l A2 (S L) SuS2k, D25x3T M 84 8,218 690,312 6,865 576,660 15,083 1,266,972|=2 & 25
AHQl 2l A2 (S L) SUS2k, D32x3T M 99 10,509 1,040, 391 8,279 819,621 18,788 1,860,012|= & 26
2SIl Z (S XL2k(KS), D15 M 2965 457 1,355,005 4,203 12,461,895 4,660 13,816,900|= & 35
OlsE=22 (g 2) (SPPS 38+HDPE), D40 M 30 47,998 1,439,940 27,174 815,220 75,172 2,255,160|= & 63
2AE2(LZZ0EH, i) 5TxD15 M 44 337 14,828 2,328 102,432 2,665 117,260|= & 194
e 2tE STSZ & 0154 AL (SUS EE#10) D15 EA 2 919 1,838 919 1,838
Lot 2E STSZ 2 01 S B (SUS E&#10) D20 EA 102 1,146 116,892 1,146 116,892
et 2t&E STSZ & 0154 AL (SUS EE#10) D25 EA 4 1,593 6,372 1,593 6,372
gutfi 2 & STSZ 2 01 S AB(SUS E&E#10) D32 EA 19 2,188 41,572 2,188 41,572
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M = H = F H| 3 H g A
g 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

f2t 0l S 2 ElOI (SUS & S#10) D15 EA 2 1,733 3,466 1,733 3,466

Z2 013 ElIOI (SUS & S#10) D25 EA 23 3,099 71,277 3,099 71,277

Z2 0lS EIOI (SUS & S#10) D32 EA 16 4,430 70,880 4,430 70,880

Zd2 0134 clSAM (SUSEES#10) D32 EA 9 1,567 14,103 1,567 14,103

& 0152 24 (SUS E&SH#10) D25 EA 4 1,978 7,912 1,978 7,912

= SL& (SUS LEAH) D15 EA 2 2,705 5,410 2,705 5,410

Zd&2 013 SLIE (SUS LEAF) D32 EA 4 5,200 20,800 5,200 20,800

2 0134 LIZ (SUS LtAH) D15 EA 6 1,549 9,294 1,549 9,294

Zd&2 0l LIZ (SUS LtAL) D20 EA 6 1,969 11,814 1,969 11,814

f2t 0l S 2 LIZ (SUS LtAL) D32 EA 4 4,316 17,264 4,316 17,264

SHA) 040 M 4 86,248 344,992 86,248 344,992

D15 EA 5930 71 421,030 71 421,030
2= I & X 27 SET 8 1,370 10,960 45,692 365,536 47,062 376,496|= 2 247
2= 0] 37 SET 3 1,610 4,830 53,678 161,034 55,288 165,864|= & 248
2= I 2 X 47 SET 4 1,843 7,372 61,480 245,920 63,323 253,292|= & 249
2= I 4 X 5+ & SET 1 2,031 2,031 67,711 67,711 69,742 69,742|=2 & 250
2= tiJ10 (STS 1.5T) 800x600x200 SET 16 148,090 2,369,440 147,406 2,358,496 442 7,072 295,938 4,735,008|= 2 251

SWS AH 10kg, 020 EA 3 11,367 34,101 5,354 16,062 16,721 50,163|= & 89
sS8= Al 10kg,Db32 EA 4 19,849 79,396 7,925 31,700 27,774 111,096|= & 91

Ns3INH(d.2) D15 ) E 2 45,151 90,302 16,065 32,130 61,216 122,432|= 2 107
AHZAEE D15 ) e 10 519 5,190 6,051 60,510 6,570 65,700(= & 132
AHZEE 020 I 2 208 731 152,048 6,899 1,434,992 7,630 1,587,040|= & 133
AHZEE 025 ) e 81 970 78,570 7,988 647,028 8,958 725,598|= & 134
AHZEE 032 I A 110 1,160 127,600 9,320 1,025,200 10,480 1,152,800|= & 135
Hgols2=22Ed 040 DN 4 5,695 22,780 187,371 749,484 17,356 69,424 210,422 841,688|= & 151




BAY: HRE I 33 HYBAEIA L)
N 2 &
g 3 A ool 4% 2
7t Z 2 o 2 o 2 o
HOHAINHAZSE) 020 80 1,289 103,120 ,289 202 2
HOHINMAZSE) 025 42 1,324 55,608 ,324 ,608|= &
HHIHNHMZE) 032 41 1,394 57,154 ,394 84|22
ZAeB(X=EH 2, bt 032 3 3,581 10,743 , 911 ,733|= 2
Z2AE(XNEH2A, 8 ) 032 4 3,613 14,452 , 979 916|= &
ZaAeE (K8 EE) 040 2 4,876 9,752 ,953 ,906|= &
UNE=E 2, D32 3 350 1,050 350 ,050
[ & A 10,064,301 ,306
0105 <SIMIIAE XIS A
LdHI|(HSHAE) KS.C-910C(F/V,THA T =Z) 4 123,422 493,688 ,486 44| 2
FotELHI|(2&HE) KS.C-880(L/T) 14 163,338 2,286,732 ,074 ,036|= =
ORI (& B el S) KS.C-910C(& X2 /4 M X Al) 2 325,232 650,464 ,296 ,092(= 2
AHI(TEZelE) KS.U-312, dIMLHEE 1 275,369 275,369 , 119 1922
FotEABI|(2&ZeS) KS.U-332 16 224,500 3,592,000 ,250 000|= &
sl dA, MITA(OHE) 16 89,304 1,428,864 ,304 864
NSEDI(EeZels) KS.L-1050B (=&, S L) 21 105,370 2,212,770 1,134,924 414 694|= £
NSDI(E&Zels) KS.L-610 (=& S ELE) 2 101,202 202,404 ,545 ,00|= &
QUANEHI(REHIE) 1400L 1 132,228 132,228 ,976 ,976|= 2
NI 12 (B ==+) Eg, u3u= S 23 34,462 792,626 , 462 ,626|= H
NI =& (MRAEBE) STSEAFH  JIEZ20112& 1 72,720 72,720 ,033 89,033|= &
AR = (STSEAR IR E OL-B1013(2 & Z el E) 5 63,559 317,795 80,940 404,700|= =
WIH(HZ0I) DL-K5217(& & & 21 ) 2 74,997 149,994 94,242 188,484|= &
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M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

WA= (HZ0I) OL-K1110(2l &3 el s) EA 2 79,374 158,748 19,245 38,490 98,619 197,238|= & 238
=8 (Ot=22X) DL-G4745 EA 1 5,903 5,903 7,118 7,118 13,021 13,021|2 2 239
fs+=d 015 EA 2 53,182 106, 364 7,118 14,236 60,300 120,600|= & 240
== (STS) L=1,200 SET 5 1,181,965 5,909, 825 1,181,965 5,909, 825
== (STS) L=2,000 SET 3 1,926,166 5,778,498 1,926,166 5,778,498
SEANSEN 1,700x600 EA 4 159,407 637,628 159,407 637,628
QEANSN 1,300x600 EA 7 121,900 853,300 121,900 853,300
SEANTEN 1,000x600 EA 1 93,769 93,769 93,769 93,769
=120l STS EA 14 7,305 102,270 10,055 140,770 17,360 243,040|=2 & 241
SXZ0| e 2 B EA 14 13,349 186,886 7,210 100,940 20,559 287,8260|= & 242
bl = CH STS EA 51 6,520 332,520 7,210 367,710 13,730 700,230|= & 243
e & Eetol o HEAH SET 12 161,973 1,943,676 161,973 1,943,676
NN 7H 1wl 2 CH EA 1 332,701 332,701 332,701 332,701
A= EE0I EIIE, dobitsA H 2 111,630 223,260 111,630 223,260
XS EEO0 28I H 1 70,655 70,655 70,655 70,655
el AE-(STS) 3HHEY SET 1 744,200 744,200 744,200 744,200




AHZIA EHI)

W= H = 2y Z g 7
F 3 crel| 2% 2
7t 3o 7} 3o 7t 3 o o 3o
30,087,857 5,250, 35,338,625
(K-TYPE), 1,486 10,402 4,973 34, 6,459 45,213|1=2 &
(K-TYPE), 2,431 65,637 6,622 178, 9,053 244, 431|= &
(K-TYPE), 3,003 204,204 7,793 529, 10,796 734,128|= &
(K-TYPE), 4,214 88,494 9,841 206, 14,055 295,155|= &
(K-TYPE), 5,125 205,000 11,490 459, ,615 664,600|= &
(K-TYPE), 5,901 76,713 12,368 160, ,269 237,497|=2 2
(K-TYPE), 9,057 9,057 16,143 16, ,200 25,200|= &£
(K-TYPE), 169 1,512 255,528 5,852 988, , 364 1,244 516|= &
(K-TYPE), 130 2,468 320,840 7,900 1,027, ,368 1,347,840|= &
(K-TYPE), 134 3,046 408, 164 9,256 1,240, ,302 1,648,468|= &
(K-TYPE), 4,270 196,420 11,704 538, , 974 734,804|= 2
(K-TYPE), 5,191 98,629 13,724 260, ,915 359,385|= &
337 24,938 2,328 172, ,665 197,210|= &
391 1,955 2,705 13, ,096 15,480|= &
439 15,365 2,894 101, ,333 116,655(= &
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M = H| = 7 H 3 H g A
g 9 T 4 el =¥ H 2
T 7t = Y T 7t = 9 T 7t = % T 7t = Y

ZAHINMMEE) D20 P/ 72 1,289 92,808 1,289 92,808|3 & 171
HAMINMMEE) D25 /S 79 1,324 104,596 1,324 104,596|S & 172
HHSIHMMEE) D32 o 2 30 1,394 41,820 1,39 41,8203 & 173
HAMINMMEE) D40 /S 17 1,429 24,293 1,429 24,293|3 8 174
HASINMMEE) D50 oH A 5 1,604 8,020 1,604 8,020|8 & 175
HAMINMMEE) D65 /S 1 1,744 1,744 1,744 1,744/ 5 176
AR B (X =ER 2, HHE) D20 P/ E~ 2 1,969 3,938 6,330 12,660 8,299 16,598| = & 177
AL S (X =2R 2, ) D25 D[S 3 2,459 7,377 6,330 18,990 8,789 26,367|S % 178
AR S (X =ER 2, HHE) D32 P/ E~ 2 3,581 7,162 6,330 12,660 9,911 19,822\ 8 179
2oARI B (X =EH 2, ) D40 P/ ES 8 4,137 33,096 6.330 50,640 10,467 83,736|= & 180
AR S (X2, ) D20 /S 6 2,000 12,000 7,366 44,196 9,366 56,196|S & 181
oA S (X=EHA, M) D25 o 2 3 2,490 7,470 7,366 22,098 9,856 29,568|= & 182
AR S (X2, ) D32 P/ 6 3,613 21,678 7,366 44,196 10,979 65,874|S & 183
AR S (X=EHA, M) D40 p/ES 5 4,168 20,840 7,366 36,830 11,534 57,.670|2 & 184
ZaaelE (N4-HELE) D50 D[S 1 6.218 6.218 10,477 10,477 28 28 16,723 16,723|S & 188
UNEEE Hed, D20 pi 2 280 560 280 560
1P 15 Hot, 025 pi 3 315 945 315 945
1P 1= oA, D32 o 2 350 700 350 700
URHEEE Hod, D40 oM 8 385 3,080 385 3,080
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(0.5T)

(0.6T)

(0.8T)

(0.87)

Sus&t (K-TYPE), D20

pvC2t(VG1), D100

PVC2t(VG1), D125

250%200

300*150

400%250

350%300

1200%500

- 2 z 3

2 o 7 2 o 2 o o 2 o
4,882,170 4,453,408 302 9,335,880
203,038 23,772 522,984 726,022
260,052 26,327 684,502 944,554
360,220 28,139 872,309 1,232,529
1,660,267 38,405 1,881,845 3,542,112
12,155 6,622 33,110 45,265
152,361 21,546 409,374 561,735
232,892 25,730 566,060 798,952
3,256 3,256
1,382 1,382
2,398 2,398
17,860 17,860
4,070 4,070
3,852 3,852
26,265 26,265
43,776 43,776
11,367 5,354 5,354 16,721
26,532 26,532
37,365 37,365
27,196 51,566 206, 264 233,460
25,096 51,566 206,264 231,360
96,416 51,566 412,528 508,944
25,154 51,566 103,132 128,286
131,026 82,506 165,012 296,038
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M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

2010 1t 350%200 EA 2 7,350 14,700 40,762 81,524 48,112 96,2242 & 219
VNG R=gT, 400%200 EA 1 8,226 8,226 40,762 40,762 48,988 48,988|= & 220
=IO R=gil, 900%350 EA 3 29,906 89,718 77,594 232,782 107,500 322,500|1= & 221
S Y IH(STS) 300%200 EA 1 25,269 25,269 36,832 36,832 62,101 62,101|= 2 222
ES Y IH(STS) 400%200 EA 1 33,324 33,324 36,832 36,832 70,156 70,156|=2 & 223
S Y IH(STS) 450%250 EA 1 46,737 46,737 47,637 47,637 94,374 94,374|= 2 224
AIR CHAMBER 1000%1000*1000 EA 1 787,977 787,977 787,977 787,977
& 1H &4, V.D Handle I 3 1,400 4,200 1,400 4,200
H3E 7 300%200 EA 6 8,925 53,550 34,868 209,208 43,793 262,758|= & 225
= m 1 8,917 8,917 8,917 8,917
HH A 1.2t M2 8 4,185 33,480 4,185 33,480
[ & A 4,470,094 6,754,315 11,224,409
01090101 CHXILHIFABH 2t Z At
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AHZIA EHI)

N 2 &
E 9 22 cHgl| S ]
2 2 o c 7t 2 o ct o

hAg S2lo e 26 ,589 ,314 93,314

HAE Z20=dol s 3 ,408 ,224 34,224

tAag SZeoEdols 1 521 ,521 25,521

tAag ZeoEdos 2 ,308 ,616 26,616

PE2E & 13 434 ,642 112,905 121 1,573 120,120|= &
oIt a8 4 4 ,548 , 192 , 124 21,316|2 2

HA SHEET Z & M 26 240 ,240 6,240 &£
S=HII2LAE -2t 1 , 564 ,564 ,523 191,087|= &
Ho=d& -2t 1 219 219 285 38 38 542|2 H
ZHEY 20l M 26 ,223 , 798 ,582 68,380|= &
HIJI (£ A H = 0.8M3 31 257 ,967 , 137 253 7,843 25,947
SHRINLCHE o1 10%+ 21 H190% 21 387 127 ,031 256 5,376 114,534
AMNE(EAH) 9 ,015 , 135 , 349 1,483 13,347 51,831

LR 9 20,417 183,753 ,575 611 5,499 199,827|= &

[ & A 461,312 484,511 33,676 979,499

01090102  CH Xl 2] It A HH 2t

HAg 2o 31 3,589 111,259 111,259
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M = o Lo A =
Cl n 3 TR =¥
7t Cl 7t = Y T 7t Cl 7t Cl

hAg Zelo 2 90 * A&, 63N H 1 11,408 11,408 11,408 11,408
hag Zelo 2 O ZEl, ®315x63mm M 1 226,079 226,079 226,079 226,079
PIES =+ IV A, 063mm, =-IHXI, PE EA 1 433,940 433,940 40,830 40,830 474,770 474,770\ S B
PE2 T & D63 M 8 1,153 9,224 23,078 184,624 121 968 24,352 194,816|5 &
PE2 T E D315 M 2 4,671 9,342 93,438 186,876 98, 109 196,218|S &
BT (E A ZAD:REAS 0.8U3 M3 37 257 9,509 327 12,099 253 9,361 837 30,969
SHRINLCHE 0124 10%+ 7] H 90% M3 26 387 10,062 4,811 125,086 256 6.656 5,454 141,804
AE (EA) L=11.0km M3 11 2,015 22,165 2,261 24,871 1,483 16,313 5,759 63,349
D=L M3 11 20,417 224,587 1,175 12,925 611 6.721 22,203 244,233| S &
SSNSAE 50% A -1 582,269 ~582,269 330,335 ~330,335 19,554 ~19,554 932, 158 -932, 158
[ & 485,306 256,976 20,465 762,747
010902 = LK I+ b
A ML (S 94 2+(SPPG), D20 M 9 2,056 18,504 6,422 57,798 8,478 76.302|S E 14
PJES-pLE e 94 24 (SPPG), D50 M 17 6,343 107,831 13,460 228,820 19,803 336,651|S X 15
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M = o Lo A =
= n 3 TR =¥ inl
= o 7t = Y = o = Cl
22T Z0ISA WS (LIAH) D20 EA 548 8. 8,220
22 20ISA A (LIAH) D50 EA 2,446 26, 26,906
22T Z0ISA SE|Ol (LEAH) D50 EA 3.183 19, 19,098
22H 20132 2el A (LEAL) D50 EA 2,329 4, 4,658
22T Z0ISA G2 (LEAF) D50 EA 1,815 3, 3,630
Sl S, 10kg, D20 EA 3.813 19, 26,117 149,650| 5 &
=] S, 10kg, D40 EA 14,474 28, 40,830 110,608| & &
L= &, 10kg, D50 EA 1 20,515 20, 40,830 61,345\ 2
EI1(A.S.V) D50, LEAFA! SET 395,213 395, 40,830 436,043|S E
JbADIED) 16NM3/HR EA 443,005 443, 31,716 474,721|5 &
Db ADIE{DIEH(STS) 800x600x400 SET 147,089 147, 147,089
DI (ZXIHIZg 16NM3/HR SET 963,083 963, 963,083
B D50 SET 1 2,451,484 2,451, 451,484
20 EIES = EA 26,814 53, 18,310 90,2485 &
CVV 1.25mmx3C M 1,106 56, 3,226 220,932|5 &
2 22C M 2,284 109 15,494 853,344| S &
D20 EA 2,950 14, 14,750
D50 EA 4,158 29, 29,106
2L AIE D15~ D50 M 27 927 24,804|5 &
S(X=BH, M) D50 JES 5.388 5,388 7,366 12,754| 3 2
E Hoi, D20 H 280 1,400 1,400
E Zoi, D50 M 437 3,059 3,059




SAY  BIH 3= F3Y Of20E AYSMCIALH)
W= b 2y z o g
g 9 # 3 oel| % B 3
B 7} 2 o o 7} 2 o T 7} 2 o T 7} 2o

ef Al ] 4,931,320 1,588,565 6,519,885
0110 AIAEZHHIIE X B At
A2 EEE (= SET 328,498 656,996 328,498 656,996
SEM AE2E L EAIAE 27 SET 602,101 3,010,505 602, 101 3,010,505
SEM A8 2T EAIAE 27 SET 650,256 650,256 650,256 650, 256
SEM AE=2E T EAIAE 37 SET 617,598 1,235,196 617,598 1,235,196
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M = H L F y 4 H] et A
= H ™ A el > inl
¢k 7t = 4 gt 7} = Y4 Tk 7t = 9 7t = 4

SEM AlE T XA A|AE 3InH SET 1 665,753 665,753 665,753 665,753
SEM AE T XA A|AE 47 SET 4 700,511 2,802,044 700,511 2,802,044
SEM AlE T XA A|AE 578 SET 1 784,387 784,387 784,387 784,387
[ & H ] 9,805,137 9,805,137
011101 J| XFXH B

MY EUR 100LIT(HH =S E IS SET 1 13,132,950 13,132,950 13,132,950 13,132,950
SASMY D EUR 20LIT(HH=SWEZE) SET 1 8,755,300 8,755,300 8,755,300 8,755,300
EQNFIE M= PRE (Y E) SET 1 15,759,540 15,759,540 15,759,540 15,759,540
2§23 SET 1 7,070,955 7,070,955 7,070,955 7,070,955




SAE  HoHIE =S E oY HESAHZIAZH])
X = H| LI 4 H g A
E B T+ 4 ol =¥ H 1
o 7t =T 4 o 7t T 4 T 7t = %4 | = 4

[ & A 44,718,745 44,718,745
011102 JIXHH& X
MY ELRLX 100LIT(HHE®E LS SET 24,749 24,749 824,995 824,995 849,744 849,744|5 & 268
SAEMYIIELREX 20LIT(HHEHE L&) SET 24,749 24,749 824,995 824,995 849,744 849,744|S & 269
SUIEIEMEL 2R () SET 24,749 24,749 824,995 824,995 849,744 849,744|5 E 270
SIIELFEX SET 24,749 24,749 824,995 824,995 849,744 849,744|5 E 271




AESAEA2H])

M = H| 7 | 3 H g A
g 9 T 4 el =¥ H 2
T 7t = Y T 7t = 9 T 7t = % T 7t = Y

[ & A 98,996 3,299,980 3,398,976
011103 = XtMH bl

| 24-SPPS 500A(9.52T)x sch#20 M 198 117,802| 23,324,796 117,802| 23,324,796
X} 24-SPPS 400A(7.9T)x sch#20 M 3.3 55,508 183,176 55,508 183,176
30' R2-SPPS 500A(9.52T)x30'x sch#20 o 8 703,045 5,624,360 703,045 5,624,360
15' =3 24-SPPS 500A(9.52T)x15'x sch#20 oM 8 868,963 6,951,704 868,963 6,951,704
90' = 2-SPPS 500A(9.52T)x90 ' x sch#20 o 1 1,285,532 1,285,532 1,285,532 1,285,532
30'-YT =2-SPPS 500A(9.52T)x30'x sch#20 oM 1 1,367,586 1,367,586 1,367,586 1,367,586
90' = 2-SPPS 400A(7.9T)x sch#20 o 1 540,096 540,096 540,096 540,096




o AESAIAZH])

X = H = F oy 4 g A
E 9 | el =% H| T
o 7t = A o 7t = 4 ] = A o 7t = o4

[ & A 39,277,250 39,277,250

011104 HH2+& X S AtH

SPPSZ & EHH 2 & X| B A 500Axsch#20 M 198 10,241 2,027,718 341,408| 67,598,784 351,649|  69,626,502|5 & 272
SPPSZ & EH{ 2+ & X| B A 400Axsch#20 M 3.3 7,569 24,977 252,331 832,692 259,900 857,669|5 E 273
2 DEHOIZAF B=300mm M 396 175 69,300 1,411 558,756 1,586 628,056|S & 274
SALS S DAIE 15mmO| 5t pIEN 66 1,879 124,014 85,552 5,646,432 1,710 112,860 89, 141 5,883,306| 5 ¥ 275
CHULH DA 23] M2 3 2,390 7,170 13,478 40,434 15,868 47 .604|5 E 276
SLEANE 500Ax450W H 9 29,768 267,912 29,768 267,912




= HY B2 2H])
W= H =8 Z g A
F 3 chel| 4 1
7t 3o 7} 3 o 7t 3 o & 7} 3o
[ & 2,521,091 74,677,098 112,860 77,311,049
011105
HIHI(EAH) =411 F8H % 0.8M3 1029 257 264,453 327 336,483 253 260,337 837 861,273
SIS IILCH 0122 10%+ 7| HI90% 804.7 387 311,418 4,811 3,871,411 256 206,003 5,454 4,388,832
2p 224.6 20,417 4,585,658 1,175 263,905 611 137,230 22,203 4,986,793
At&E L=11.0km 224.2 2,015 451,763 2,261 506,916 1,483 332,488 5,759 1,291,167
OtA 400 534 213,600 1,191 476,400 25 10,000 1,750 700,000
H D =412 AE0.7m 152 610 92,720 1,024 165,648 742 112,784 2,376 361,152
OtAZ 760 690 524,400 1,653 1,256,280 764 580,640 3,107 2,361,320|= &




AESAEA2H])

M = H T H| 3 H g A
2 B 7+ 3 el =¥ H| 3
o 7t = % T 7t = Y T 7t = Y ok 7t = %

[ & A 6,444,012 6,867,043 1,639,482 14,950,537
011106 &IIL XS B At

1) Mzl

ZologHoAAH0IE F-CV 4mr/2C M 200 1,347 269,400 1,347 269,400
=T EA 1 18,386 18,386 18,386 18,386
EOIEEE, stA 10P 30A M 1 3,901 3,901 3,901 3,901
PANEL(TRE &) 220/380 EA 1 612,871 612,871 612,871 612,871
SQUIRO A sURE o 2 3,502,120 7,004,240 3,502,120 7,004,240
JUNCTION BOX H 1 437,765 437,765 437,765 437,765
& 4 24 (ELP) 65mm M 200 763 152,600 763 152,600
LA RO 012 F-CVV-S 1.5mi/2C M 200 087 197,400 987 197,400
AEZI0IE UL2919 M 19 3,064 58,216 3,064 58,216
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M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

oA A 1 1,751,060 1,751,060 1,751,060 1,751,060
2) =2l
ZC/0EALHAANOIS F-CV 4mr/2C M 200 2,716 543,200 2,716 543,200|1= & 277
E RN EA 1 18,866 18,866 18,866 18,866|= 2 278
BHOIE== &4 10P 30A M 1 35,213 35,213 35,213 35,213|= 2 279
PANEL(TRZEZ &) 220/380 EA 1 35,213 35,213 35,213 35,213|= 2 280
SYAMOEA Fg12E EA 2 112,861 225,722 112,861 225,722|= & 281
JUNCTION BOX EA 1 5,634 5,634 5,634 5,634|5 2 282
M & 2 (ELP) 65mm M 200 3,455 691,000 3,455 691,000|= & 283
HAMOAHOI=S F-CVV-S 1.5m/2C M 200 2,377 475,400 2,377 475,400l = 2 284
ZES3H0I= uL2919 M 19 3,896 74,024 3,896 74,024|= 2 285
[ & A 10,505,839 2,104,272 12,610, 111
011201 & BIE XIS At
d2=3200 ¢ 200x1,500L S 1 1,926,166 1,926,166 1,926,166 1,926, 166
d2=g ol ¢ 200x1,500L S 1 1,926,166 1,926,166 1,926,166 1,926,166
SHAHTEHT 200L. 10kg/cm2 CH 1 793,595 793,595 187,302 187,302 980,897 980,897|= & 262
elerely o 7.5HP (5. 5KW) CH 3 1,791,150 5,373,450 177,747 533,241 1,968,897 5,906,691|= & 263




SAY  BuHILE =S OEI0[E AR-SAZIAEH])

W o= v 2o # oy & 7
E o # A crgl| 4 5
e 7} 2 o c 7} 2 o e 7} 2 o e 7} 2 o

[ & A ] 10,019,377 720,543 10,739,920
011202  J| Hl & b 2t = Al

AH Qe AZ2H(I]HA) SUS2t, D32x3T M 22 10,580 232,760 10,649 234,278 21,229 467,038|= &
AH Qe AZZH(I]HA) SUS2+, D40x3T M 36 12,139 437,004 11,740 422,640 23,879 859,644|s &
AH Qe AZ2H (D] HA) SUS2t, D50x3T M 29 15,287 443,323 14,139 410,031 29,426 853,354|s &
AH o2l AZZH (I HA) SUS2t, D80x3T M 72 22,852 1,645,344 19,864 1,430,208 42,716 3,075,552|a =%
AH o2l AZ2H (D] HA) SUS2t, D100x3T M 12 29,629 355,548 28,621 343,452 58,250 699,000(|= &
2ot 2= STSZ 2 0134 A (SUS LEAF) D32 EA 16 2,871 45,936 2,871 45,936
g2t = STSZ 2 013 A LIZ (SUS LIAF) D32 EA 26 4,316 112,216 4,316 112,216
282t = STSZ 2 013 Al (SUS & #10) D40 EA 6 2,819 16,914 2,819 16,914
g2t = STSZ 2 013 AL (SUS S&#10) D50 EA 16 4,123 65,968 4,123 65,968
otgj 2t = STSZ 2 0l S A A (SUS 2 &#10) D8O EA 26 8,247 214,422 8,247 214,422
2ohgf 2= STSZ 2 013 A (SUS E&#10) D100 EA 12 13,710 164,520 13,710 164,520
g2t STSZ 2 013 A EIOl (SUS & S#10) D8O EA 5 13,745 68,725 13,745 68,725
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N
ro
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OH
=

STS& 2 0

0lo

ElOI (SUS & S#10) D100

145,859

STSZ 2 0

0o
b

elSAM (SUSE&ES#10) D50

33,828

STS& 2 0lS2

el S M (SUSEES#10) D80

9,210

STS& 2 0

0lo

clSAM (SUSE&ES#10) D100

12,974

=& ,10kg, D50

234,936

pm
bl

MEACIRT (

050

339,675

M| ML E(EHX

050

478,623

H &l = 2t 0l

LEVER, 10K*D50

,239,700

B &l = ctOl

T

LEVER, 10K*D80

, 704,348

H &1 2 ctOl

T

LEVER, 10K*xD100

369,208

[l
UE
T

&&=, 10kg, D32

210,780

[l
NE
T

2=, 10kg, D50

334,332

fa

i
s
10
ol
X

4,094,110

,094,110

30
of
P
U
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i

X, D50

654,867

10
o
kA
I
g
T

A&, D80

504,849

Paa
O
0
S
£
o
4>

015

673,376

AEHOIU (LEAL)

10kg, D50

413,136

MUK
JE
>_
it
e
Im

HWZ XS, D50x10K

250,368

I
Ju
X
x
i

1z
]

167,893

o
H
X
x
>

i
3l

389,895
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g
0f0
124

r

040

139,692
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050

1,633,203
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0f0
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r

080

1,895,440

2,376,492

>
T
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0

0100

1,738,404

2,277,968
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AHZIA EHI)

N 2 &
7 A chel| 4
7t = = = t 7} =
16,022,976 9,309,635 ,332,611
011203 X=gusz

12 2,084 25,008 834,120 71,594 859, 128[= &

=E£Z8 = T2, D50 4800 2,442 11,721,600 2,442 , 721,600
ESY 2400 4,053 9,727,200 16,896,000 30,907,200 23,971 ,530,400|= &
156 8,272 1,290,432 4,877,340 40,424 , 306, 144|= &

S§Z(L8t) 16020 175 2,803,500 175 ,803,500

4800 42 201,600 42 201,600

8.9liter 18 140,084 2,521,512 140,084 ,521,512
2400 42 100,800 3,477,600 1,518 ,643,200|=2 £
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AESAEA2H])

M = H = F H| 3 H g A
g U 7+ 34 el =% H 1
o 7t C T 7t Cl T 7t = 9 T 7t = 9

PEZE & 050 ) E 75 434 32,550 8,685 651,375 121 9,075 9,240 693,000|= & 153
PE2 & & 075 DN 62 868 53,816 17,370 1,076,940 243 15,066 18,481 1,145,822|= & 154
EIJI(EAL) =4 2eH T 0.8M3 M3 189 257 48,573 327 61,803 253 47,817 837 158,193
CIHSIILCE @12310%+21 HI90% M3 155 387 59,985 4,811 745,705 256 39,680 5,454 845,370
[ & A 2,289,429 2,958,490 117,056 5,364,975
020101 E223At
ZE2(DPLI+HEHE) 13TxD15 M 64 1,330 85,120 2,410 154,240 3,740 239,360
2E2(NPLE+IHEHIE) 13TxD20 M 30 1,570 47,100 3,340 100,200 4,910 147,300
ZE2(DPLYI+IHEHE) 13TxD25 M 76 1,840 139,840 3,800 288,800 5,640 428,640
2E2(NPLE+HEHIIE) 13TxD32 M 25 2,250 56,250 4,630 115,750 6,880 172,000
ZE2(DPLI+IHEHE) 13TxD40 M 72 2,440 175,680 4,620 332,640 7,060 508,320
2E2(LDPLEHHEHZE) 13TxD50 M 43 2,880 123,840 4,580 196,940 7,460 320,780
ZE2(DPLIHIHEHE) 13TxD65 M 18 3,530 63,540 6,350 114,300 9,880 177,840
2E2(LDPLE+HEHZE) 25TxD15 M 43 4,210 181,030 6,230 267,890 10,440 448,920
2E2(VSLIHHAHE) 25TxD20 M 284 4,800 1,363,200 4,950 1,405,800 9,750 2,769,000
2E2(DPLIHIHEHE) 25TxD25 M 176 5,380 946,880 5,760 1,013,760 11,140 1,960,640
2E2(DPYZ+HAHZ) 25TxD32 M 167 6,020 1,005,340 6,550 1,093,850 12,570 2,099, 190
2E2(DPLEIHHAHE) 25TxD40 M 43 6,510 279,930 6,520 280,360 13,030 560,290
ZE2(DRPYZ+HAHZ) 25TxD50 M 29 7,880 228,520 6,410 185,890 14,290 414,410
2E2(DPLEIHHAHE) 25TxD80 M 72 10,350 745,200 8,710 627,120 19,060 1,372,320
2E2(DPLEHHEHEZE) 25TxD100 M 12 12,370 148,440 11,020 132,240 23,390 280,680
2E2(VSPLIHHAHE) 40TxD50 M 71 19,070 1,353,970 9,330 662,430 28,400 2,016,400
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[ & A 6,981,376 6,972,210 13,953,586
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M = H| = 7 H 3 H g A
g 9 T 4 el =¥ H 2
T 7t = Y T 7t = 9 T 7t = % T 7t = Y

| 5,713,000 5,713,000
AHQRIAYR(S2) SUS2t, D50x3T M 120 16,466 1,975,920 8,698 1,043,760 25,164 3,019,680|S H 62
AHZEE D50 D/ ES 20 2,259 45,180 13,686 273,720 15,945 318,900|2 & 137
BTN (E AL SAD| RS 0.8M3 M3 144 294 42,336 374 53,856 290 41,760 958 137,952
SIHRINIZLCHE 012 10%+ 71 H190% M3 101 443 44,743 5,495 554,995 293 29,593 6,231 629,331
ANE(EA) L=11.0km M3 43 2,302 98,986 2,583 111,069 1,694 72,842 6,579 282,897
Defes M3 43 23,320 1,002,760 1,343 57,749 699 30,057 25,362 1,090,566|S X 3
A A 3,209,925 2,095,149 174,252 5,479,326
S ILILXIA 10% &l 1 547,932 547,932 547,932 547,932
[ & A 9,470,857 2,095,149 174,252 11,740,258
0302 JFAAEE2ES
IMANEEYSE 16NM3/HR A 1 407,616 407,616 407,616 407,616
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407,616 407,616
MCAL 143 150,860 21,572,980 150,860 21,572,980
21,572,980 21,572,980
SOLILXIA 10% = 1 2,157,298 2,157,298 2,157,298 2,157,298
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